40th BCS Preliminary Question
Question 1: fIET (FHG 378 Sfew 93?

A. F7%
B. 2o

C. gJd
D. sraat

Answer: SIS

Explanation: SISRE ST 91 M| SR FIGIF == (ST (AF ST ST FIRCT A7 1T
ST REA® A T | IR, BIF©, (N 3 BRI 9 5T STHT | AP SIS 3
TS ST TR (MCTH JR© AT INF | 1 WMo MRS, (%6 (=16 fBe e sronfs
STET S | & Moo 4 5= (@0 JIE 71 AN, FA6, R 3 T - &erer Sfew | Ja

s e [t 8 Iraf=ieam

Question 2: IRACT REBS IWF (FFE AGITAT (S295-2009) (FTA FEF FATI TIGEE
AT AT Ao 27?

A. 5298
B. Y>vv
C. r0019
D. Y25V

Answer: Y25%

Explanation: 35 AR 936 AMe=Hbw dFfes 1T T Sfoqwas ameT (FR1S o1
IS TN (W1 (77| @ AT TS IWITZ: - S5 T & by TORT - SdBY [ & U
TERT - 2009 3 X059 NI : 83 TORT| (SXTHA: TN IO 8 NOHIFIT (I I3 GONT 3
SRR | FIF-T CIfT 1)

Question 3: W‘{(jﬁﬂ IR (F40 (FINT T30 ?

A. FTHAY
B. FeaT
C. o3
D. sranfafer



Answer: J1afg

Explanation: Y054 ST ST IS qRTST T30 (34 (SAARC Disaster Management
Centre (SDMC) 8fG an®fers s1:31d s @ J1:afSfdw 271 97 ION TvawIF - S,
IFe | 85 AMPfTF 5% 2% - ©) TF ST TFFTA] (F4 (97 o), R) N NI2ST (F4
(CTF), ©) & T (F°4 (R*]) 8 8) A1F SAFAIT e BT (F7G () | ST, T
SIEF 85 ST T (053G ST (¥@) | Te¥: Live MCQ content (Upcoming) 8 ST
SFITNRG|

Question 4: IRTAEHT ANAGF (TSITSEF N (FF 2@ (T FAFFT 27?

A. fsf1er 2
B. g F13T&T AT
C. (a1 A%

D. $¥ a1e

Answer: ¥ 2T

Explanation: IR A6 F STMFT-x030 TN, - F AT® VS STl 80.b
BT, - (T S (AT FAETS 0.0 TR, - &1y AM® TS TSI 20.8 TSR
SO, FIRIEL [0F (FF FIEF TS TS - FAAO|

Question 5: IRTCT SHFAIT FAGI(® ITINFTE TAGNS! (T HHCEIF TN FATS 27 ©FF
-

A. FG1SY Fo5
B. SI&F I5

C. JfRsfere Fam

D. SRS e I3

Answer: SETRINSqe J5]

Explanation: 0T TRE6® IS e foaft Cifite e Fa1 I1T: F) G T
(monsoon flood) - 9% I @sT®, Aualx =iy S S SIEEN FE 93 T8 7737 a1fe
FE AN TP Ffo TS FE; ) AP 077 (flash flood) - AHFEAF NG BT AT
T9 N NEG® J3¢ RS (A (3237 NPeF AT AAI57E I (S8 MHB® 2F; 973 5T)
S I (tidal flood): %G FEeF1e A8 92 Ie7a THel NHETS © (IF & NoE




G TF AT 2 ©-SETH VG TN SN PE (| ARSI TAFAT AF( AES
AT FH (7T T, JTH T - SETRINGTe I | (ARG J1 SETRIN Sfve NFhod qRTEE
T P T SAFAIT THT TRF A0 FE 92 47@H INA (8 FE| Az IRTOIGIT 93
METRF QT 3 AT 32

Question 6: fA@T (@& TS &y ?
RIGE]

fasy

DICIE

D. 3371

A.
B.
C.

Answer: ¥J]

Explanation: %% SIaa1at Seuiasayz e A1e1 AfHfow | st STt e foay srpra| 720
- S e, - seAfers e 8 - Feafae e serfers Freme sifer f%e 2@ @ Frem sifde 23
O TS e | - M FeT SArw 8 I 555 ST IR - AT P17 7=, O 3
SRR FIAE 7T | - (FENE, GANNE, FNNF, FIAT, (FS, 7 Tehs el Frea
SRR | ST § FRI© FIeT SHEPT (72T T 111 (A QT 3 ATET : FIH-7T (31N

Question 7: fE@s (F1(6 328 (T M6a ?

A. S :3¢,000
B. Y :%oo0,000
C. Y 1 Nooo,000
D. S bo,000

Answer: S : bo,000

Explanation: (5 Sl W68 42 FFEF | IN- b) RS (F NAba2 936 (16 97T (F
A TG FE (AT IT I TG0 IAES SIS AN | 97 A [F%5 07 95 AAfba ©f
SIE (W] IF| (FFA2 2 $0,000 X) Fy (Fe AAfbaz sl S I FRT IT (MR J©T IS
AFAE AP0 (RIG IS (R 2T I A FFTF N6 (@ SIS AE 7| 0T Ao (@
e (AT I AT (@FTA2 S © $0,00,000 T2 G 3 I, FIH-T7 I |

Question 8: TS =T TR (FHIFTAT (FNE T 23~



A. SIRCIT
B. SRR
C. SRR
D. SIRCR126

Answer: JRMRRG

Explanation: Isobars: Lines connecting places of equal air pressure. Isotherms: Lines
connecting places of equal temperature. Isohyets: Lines connecting places of equal
amount of rainfall over a given period of time. Isohels: Lines connecting places of same
mean daily duration of sunshine. Isonephs: Lines connecting places of same mean
value of cloud cover. Source: The National Weather Service (NWS)

Question 9: fYE (FG MY 317 (hazard) F3?

A. I 7

B. %

C. St

D. SN
Answer: FTHITRT

Explanation: FTRA aFf6 MNFFeF GE1ST; MAIE A=W 77| 'S1H-GNA OF FHFTT 93
ST PN G 2J | FLT af3T (A N (3 NI ME FEATNA AT SIF 7 17T FH|
TS Y 3 BF IYH T P 2T Q3G FTENINI IOF AP 2| FTNT NS
FREACTR FETSTST O FE GIFT, 74, HATIF AT =S 2 | FEETNF 51 Ao
HGIF 8o (© ko [FEARGIA| SIES ¥ 2 IAEH STe F61F S3b [FERGIERS @ 2@ A1 |
FIRTN TS (e S AE OF 97 FOIT TRFTE (A QAR F FRAAF | T3H:
AFTTT - TIPT CTANE QU ST 77 32 (S | INE, T 73, 7o 3 FRRIAT - 2o
AAIYE I T AT |

Question 10: IRTCTA TGATRGT TSI ST FI HACTT ITSIN?

A. TETS ST

B. FRIT 9 7 T ST

C. 8 Toa T Sreiy

D. #RIT foazfas , 3wy - foazfas ey



Answer: FRIT foazfas , 9 - o723 a6l

Explanation: TGITTG] ST6IT SWIF IRTCTT (TSI (ST FHTSR S GET
a5 | FA0 FRIF BRI , ST - BFRMF ST I@F A3 ST FAT| T2
IR 3 FRr=faey, Fas-wre (7t a3 Sl 333 ofm, AF-g1% I, S, (. e
A | SIS STOIT S (TS IS (Sl FHe18 SNET 33w | afod e a3
S0 (TBA| - VDY A A6 STSIT ST (I FT 27| - AT Moy Bazfs 8 iy
foaRiE TN (W | - SEHFST TS - A6, TNENFT, SFF , (R T KGR
fafes Staews| - a7 srereT 0T 8 fasf@T seendia a5 F@® | 5@ I f[ForT 8
(TSRO (SelTd SEIIRG |

Question 11: Y05 NI RIS Per Capita GDP (nominal) $9©7?

A.$ S, 9¢0 MFT Teg
B. $ ,9¢S MFF T
C. $ 5,963 MFT TNF
D. $ 5,90 NFF T 46 e Fa7 T@®

Answer: $ 5,9¢© NFF g 96 6T I T@®

Explanation: Sif{afe3 ST 20302 f&BH 2082-30 (THAF): - eifs 3T &fS:
29,2b,99% (FI6 51T - P57 0 fBfGH: 8), 00,980 @FI 5137 - F57 3 G 53fag z=:
@.38% - 51 T RPg & vo90 MFT TN - Teffe JETs TG ST ATz 2048
PN GO

Question 12: IRF 3 ST (F4 F 4FEF T7?

A. If(dfeF
B. (eI

C. &7

D. NaSEF1E

Answer: J@3S4FF

Explanation: 3139 8 WferT (F4 (SUF) R AF6 NFAMEFIT 978 ART TSI
EIFFIE TRBA| - 5B T AfoPe 92 TAMHA ASTTeT T » S| - a7 I TH5
THAEFE, sTfed, NPT, TARFTET 47: foiefss e f6fam aREa T 3o
TS AP SIS0 |




Question 13: Almond 3 Powel 511 SJiRSF1A (T8I Row FE@E®-

A. © Ol
B. & ©O10T
C. ¢ or0l
D. 8 ©1sr

Answer: 8 ©I¢I

Explanation: (T (STSIF TosTT 932 N@TS1F 3 TN fSf3@ NG 8 93 e fofares o@r
TEET S W% 2T ©IF 617 YR (S8t 761 Aimond 3 Powel 511 JR&TT (T8I 8
Ol Ol $E®A | I¥T- - Institutional Interest Groups, - The Associational Interest
Groups, - Anomic Interest Groups and - Non-Associational Interest Groups. 53

THAESNS (NI 3 ST (S) |

Question 14: IRATGT MNfoRET -

A. S8L O U
B. 5SSO ©F {UHY
C. SXb ©F Husy
D. Sob O AUy

Answer: SOb 9 Hu7

Explanation: IRFWT 39 (TCHFF, $298 N e EF NS IO 29-0 AH@H
SO L-BF WSS AT SFOTHRE (@M FE| - 97 9F T T ¢ EHIF, 98 T Sfed
ffreT o/ CTH ST T SOTRET ST HTI0 FNTINES H©T TR ST T
FEF| - DO ATHEIE FRATECTT N2 ATATGT 8 I fTHIS THE v 8 S0 r-BF F0sy
R ST E®T 5 77| T8T: IRAFIGAT 3 FfeT®T SHINRG |

Question 15: AW TN SO Fq@T A6 27 -

A. A (TFIIME, $599
B. 9 S, v59w

C. 9 aff e, V599
D. 9 96, L0



Answer: 9 Fﬂﬁ, NOEIL

Explanation: - 4 6 90 fAGIE IRATWT STSIT T@H 3 A6 Afde 271 - (7
T TBT TR ST FHsT 190 JAST (T SIATS FEF| SNs RTIGAT|

Question 16: 9% S ﬂ!eﬂg%a Y SO E® (F1 (7 R T (0! Tw
FEA?

A. I&FSY
B. ®1™

C. —c

D. (Nfe@® 25434

Answer: (fS@w@ 8T

Explanation: Mf¥a J&ATZ oA TFINET A (6 o717 Y@I9M0F TIF I 93
fee ST fSAIRR (SGT (71 A%IST NI JEHAG IETTHISNE 9 (AIF2F (T FAE
©IF 61 ©IF© NRNSIE A0 (NS 2SI 2087 (MF3F 9 (VIFES 55 (77| 5@
RIS 20T 3 fasTorer

Question 17: TRF PReRMF 97 MET ST TITHNE (FIH OB TIGE 1 TAR?

A. 59X SHINE
B. N3N SHNET
C. T OB
D. 5T OB T

Answer: Y O N

Explanation: S5 SROTEAIF N IRTGCE SRITHT NE3 oft ST AT FAT 27|
v T PfERNF 93 MMET S TfIHET TPT ©OHNE RIS FIT 37| AW
I NG S OB SR - SN BWOTET ATy [T W3 FIAPT a2 | - Foly
©%TeT: BN A6 TGN Q| - DOIT OBz 14N 3 (T - 5 ©Hi:
IR 3 ST TR - 2T SHOWT: DS NETF 93 MET SFA| - TS ©HT:
AT FHAT| - TIT SH s FITOIT (TFAT| T IRTOCTT NI




Question 18: 575 FIE ©IFGT ©RYFY (F REF?

A. TE feraferis
B. G SIS

C. 6 ATSH TG
D. 6 F5

Answer: 6 FE

Explanation: $»0¢ SR S AT 76 FIAEH TN IR (SSHE (OFF 1 S0 FAT
2 ] IS AT STABE | - SO SRIIT A6 FIH Dot NEF S AR IRAT ST
FEF| A RSfET M THT IR IR 3 AN A7% 'SAF7I57 ACT 76 AT AfHere
FA1 2| - o WEW 8 Reyma SlF [EEeT 932 IR AETFT@a FEC &6 TaF17 Fres
0 FA© I T - 6 AGET T LSS NEF TR fThET To0 197 595 ffeite Iores1
TOF (T (W | - 5289 NEF SIF6 SIGIF Y SRIFY REH 76 AOGH/IGA | B8
IRAIFGIT 9T IRA@CTF 20w 8 IS, FIH-7% (Hfe |

Question 19: IRTTCTT (F1F FHO N NAJEF Tty fF271© ?

A. SETER IoTef

B. "=y SECIE TNoR

C. ¥, IR 8 THIRTEE FAGH
D. SI8TT 3 AYIR TNofl

Answer: O3y 3 BE(SE] Elalglﬁ

Explanation: TNTCTE TNGRIE FTT0 TR o1 Tage J0Hd Jao, FoHY B3
AT TS Ta I IAGH 3 ST T (A0S IAG (Faa) 92 fod ST ©IT F7 27| -
TIF 3 BISTETH INQN FIRIT ToaT1 Taye JHF JAG T IGE | 97 AFod AT ¥t
35 FFENRIG | N ST AF Y@ SIOET A TAGHF TN TH| - TGS CEAE IqQT
ST I ST, ST, F[eT, ST ResI0 | - SoFeAT IeT (FoTe - Tl I 3 SRIRTEAR
FAGAT T TF (SIS, 1, (FITT @11 T332 JRAT I TSI SFINRG |

Question 20: IRATTT TAF AP AJ[OS 27?

A. SN N
B. Y99 NI
C. S29¢ AT



D. Y98 ST
Answer: 598 N

Explanation: SESSTR 5@ IRACT S AMNSNH SYfFo 27 5298 NI | T
SIS TRATCCTT T3 foeT 717 9.8 (@61 2 57 IRTMGCT (M6 ¢S v anfa
SE® TAE| TUT- 5298, 5D, S, 2005 8 208 S| TS APISHIET A1 T[T
STBTT 3 TRV | AAFFA AT AFE 2038 NER T BN TfFe T & T9e
GIEEECIR ERIGEY

Question 21: Inclusive Development Index ( IDI) - a7 fSfats, wfFe A IR
Z $O7?

A. S 31
B. 5% I
C. 9T I
D. &S =1

Answer: fg6I¥ I

Explanation: 37 S1(afs (a7 World Economic Forum 393 311 Inclisive
Devolopment Index (IDI) o5y a7 fefa® afdfer AR IRATE@CTT 2 f981F | - TN 2
AR - (T, - GOIT 3T - NI 9% - 5% T TA® - SIS |

Question 22: 0\Y STE IRATGHTT (N6 INfH AT Fo?

A. $ 8o faferme MfFe Tom
B. $ 8\ fAferme P Tong
C. $ 8x fAferzs P Tenm
D. $ 8w NP7 TN T FIfed Fa1 @™

Answer: $ 8w MfFq TaF 36 16T F41 @™

Explanation: IRAGT SINASF FHFT-x030 ST, - I ST w0,y q ez nfFa
TR - AN [ ¢8.9% AT MFT TN | SET, 205b-205> TATREG (N6 TN 2@l
8o.¢w fAfeTTe MFT TAF| - 2030-303S ITRF ¥ 3 (HAT AN (NG TN AT T=H31aT
fefiger Fa7 TA® 8y AT MFF TTF| - 97 M A< IFAT Ty 8 T Tz a7:
(TR FIAF T 9 AT T | T3 TAA6F STHFHT, 2020 AT T SFIS AT




STITRG |

Question 23: Alliance (I (WCT {63 GG TISSENF HesToa-

A. THAHA
B. 0@ 20 AET

C. F19101F

D. J&AE@T
Answer: J&AET

Explanation: J&aET (TF TSfSfedF M9 Alliance | 'Alliance for Bangladesh
Worker's Safety’ Yo SITETE 38 af8e F111 #761 Hba1F 77 dfofde 271 Ja1Ea e
B IS A S5 T2 IHEIES gfedrer vk w61 afsoeE safa
TRACT FIHFH ATCTAT (T 2T ¢ T=F| ST, TRACT 2SI 3N (T
TSTSTaF TSI 97 o1 - Accord |

Question 24: Yo\y S IRATWIT GDP - (0 19 Ao SIavle $o7?

A. 9.9 %
B. wo.LbbL%
C. v VL%
D. wo.b4% G e Fa1 7@®

Answer: 0. 4b% TG IMeT FAT TE®

Explanation: S STAHT-2030 SR, Py f&fSHe - Fraames sqwe- ve. vy
MO, - (FAATGT AFTT- €. 90 TORT 472 - FRAAMOF ATTE- S0, 0¢ TSR]

Question 25: Y05-5> I TG FIIF TeNwaAT T TI®=-

A. SIS 8 RIS (FI6 BT
B. TG ¢ 2H (16 51T
C. S © I&H (16 51T
D. STE & & (16 5131 =46 Fifed Fa1 2@q®™

Answer: NG & XEH (FI6 51T 46 Ao F1 T@A®



Explanation: JSTHT 205 »-20 INIRT @ TIAFITFGE & CNARE]| BT S5 SN
AT} BRIF IG@| 5o AYTHF FINAFHAICH Ty G@fF 1% 8 TSI ¢oo (FMb BIFT IqTw
A ST AT © ¢ XS (F16 BT RIFGE AT | 0 FFMTH S 9 S S| (ST

Question 26: IRTCT FYH BTG (VAT) &1 23-

A. SO AT
B. 99 NI
C. SO b JIT
D. 5995 N1

Answer: S92\ NI

Explanation: IR J3 ©F16 (VAT- Value Added Tax, 35 SRS F) 51 23- &
IETR, DS A - 16 T JHF I35 TEF F| - BII6 (A IRANTT FIPNEH NS A0
S | - FROT THSIES (GO ST T S ST ATF (N | - TOA SI16 I SI(G:
%, 9.¢%, 50% 3 $¢% | §a: NBR 3FITRG|

Question 27: T:FHET @& N first distortion of constitution' I rMTe
A1 RI?

A. X T NRUTHE
B. 8 & PTHAE
C. © I N CNHA
D. ¢ TCNEAE

Answer: ¢ SRPTHA@@

Explanation: IRTGCTE SRIIENET T3 STLCME! (& 'First Distortion of Constitution’ 3T
SRIGEE o3 PRSI 77| AP WO SR A3 I AN ST NW Aeerfore
2T 599D MEF & 3T - 9% SR FTAT AT 5 SHNETT RENET F7 27 932 O b
AT A IFT Fo TN I& FHT 2T - 970 97 7 (F, $DA¢ W ¢ A6 Sz
82 U (@ 9> NEF » A3 TRy =G (82 faz) NHEF AR FOIEF (F (FIET (THA
AT FE SN0 SKIFHET T TeTEat, Y[, A6, afese 8 [{ef @yenw
e I f[Ete 2T 92 (FIET FIHER (FIET AT T ERJAE INEE I (FIET T
(ST AF AT| T3z IRNCISAT § AW NG|



Question 28: FEFeF (FFIT N TYETT FooN ©HHNE TZOF FIT TIR?

A. v
B. 7Y
C.T

D. &%

Answer: 3%

Explanation: IRTOCTE SRIFHT (16 9fS ©HITT AR - TAT OBV - AN [F =3
FHET AR | - [GolT SHTT - AMPFAS [HTH (TON [I7) | - TOIT OHNT - 7 3
(TR - 5 GBI - FIRFHFEAA 3 SFIAT AT | - THH GBI - S99 HETF 92 AGEHF
S| - TO OHT - JETOIT (TFAT| AT - NIF GBI -- FIATOTT (THANTT| TSz
TRATCTS ST |

Question 29: SESTR] IRTGCTE N:fFH 936w 23-

A. 59 afFe | $395
B. 34 HTE, v59w

C. 9, S>N

D. b 0TS, v

Answer: S TS, S92

Explanation: S:fSaTe srrasieal IRAWETE SRIFHT $293 W 8 A@IF S m 93e
93 932 TR S TG 67 [MaeT F978 2| -sTefsoed! AR W@ G seo 6
e AR - I ST AT AT A2 S5, - SHT A= 9, - s == 8fb, -
T 0= SfB 1 A STrESTeR! IR NI 8 TR HEAT|

Question 30: fINEF (F1F AR "SAFF F FHrT (PSC) ST ST AMT?

A. 598 T2 IR
B. b©¢ &3 INeqrRm
C. o T} =M
D. S99 & I

Answer: Y99 &2 AR



Explanation: 3 ©15T IRAWCTE FH TSI 3T R NAF1ET F3 STl AfSDT Aeyrean
S92 AREF T ARACTE Sy 97 T AFNEF NIFAN % ST HoO1F Y F171 IRE
AT AFET TSNS 3 SIREH TN (T V1o 23T, TR SAATAT TasT(S TRAT AT
S SIS 2@ | @ SISTear IR S|

Question 31: SIS AT L-G%T (7T FIT T -

A. SDLD AT
B. S>L9 HIT
C. S0 AT
D. S2L Y AT

Answer: S>bY ST

Explanation: $>\ b NI I5R% T (& TR FIEF TR =F G5 ST FE |
BT SO HfGa Fom A AH6© =T WHI I W] e A@RHTS THSTHA | b WHIF IS
THISE XTI - (FAIT TP FHe], - 34l J1 AY-TTRHT Fo], - AST, F9 1 ST TIR T
Fel, - FEEF IS [FTAFF AT 932 - AMPFTF CTANRIRAT ST FHe1| TSz (A 3
SPTE, AFTT-BT CIfe, SIS (e (ST 35 |

Question 32: FFRFIR TG FGIF AT (TG ST 25T feee -

A. 98 O
B. @l &
C. 9 3
D. vt &9

Answer: 9t 9«

Explanation: 5> 4% ST © ST ARIT AT TIFIH SASTTOA TGIF AT IS FE|
b SR TR 92 AT ASTE T 2| ToRFE T S HE (6 0¢ TeA® 93
ST SR PATZT | BIHT FIHATCE b I FOTH (VTG A& A3 AP [Foraa 8
2| 92 AP A TEH 2P IIE@ S (HFINF S 6> I TT3F 8T F@ 707 F4T
2| ST W SARIT A FEFH SD LD NEF 30T (HFI SSRGS SIS A
TSV I TR, T2 NP O (SN I T (5@ IRACTT 2oz 8 f[aerer :
TIF-TTH (A 9T IR G




Question 33: R} @ IFHCIAT fafbe Fa© FHNOAG Ffas b7 F47 23-

A. s & s fo
B. o TR vwo 6
C. >0 3T 384
D. e IF sou 6

Answer: S© 3&F Sou o

Explanation: IR SHIAF STHT, AT 0¢, FHF TR 1838, AFIN BT S© THH b b
f51 a%3Ta a3 CTERR v TEE S uff, 93 o6 232 FieT (w1 ©1F M@ TIF6] NeI© A0
(A2 FEEA| - TRATT TAAGF TAHI-20%0 AIE (0T TSN 59,5045 FHISEAD
fFfd I M| - IEE TPOIRS AN, NHECT TTFNEI FAHSA FeAs F7@q Hfavgen
18,%20fG |

Question 34: Let There Be light ' - f3251® =36 {6 er FES-

A. SIS (T

B. CT¥ foaTeTe Sdt
C. NF IAre1od T2
D. &g I3

Answer: S29 A

Explanation: Let There Be Light Rf<f6 SfH6Iea $E@ Sd TR | S TR AH61S
AT HATSEE AT TEA®: - Stop Genocide - ST (A (FSTT - FAAS AT - FIST -
I (T - (F2 - AT - 57 - TR Foho | (Ja: IRAIHEAT)

Question 35: IS e 20T T FAF JZ6T IRAT A FEA?

A. 582 - SESY eI
B. 8> -5a59 b
C. 383V - Savy eI
D. 38> -5ab» e

Answer: $8>% -5¢b» AT



Explanation: (XICTH % (5828-5¢5») IRATH (RICTANR ARCTH AfedTe1| - fofel 275 Jerere
RIS q RA SfoF R | ol So1@ 75l FE SR ANFH FEA| - 4858
B o (T oAty SISTiawa Q11 SfereTe f1b® 2 932 ST e T MR A1 N1
FEF| - Sl 207 N2 JEF (TP o™ e | Jaz IRAGCR 2oz 8 Fgwerer, aas-w
CTNF @6 32 3 IR

Question 36: T8I IR G THET JfodTel F ?

A. a7 (] [;3 ER
B. 5usg GNY

C. TEsY
D. ICNF

Answer: S¢S GNY

Explanation: « G STRITSY: - 181 ©TRT® SEENA 0T 56 B6ad v@¥ 1o | - G
TSR STAO OO J NHSTHGIF ST | - SIF© CNY A AfeDe] TR 5u3Y
G| - IRTT TR TATSHH ASTST 20 THG ANCTF | - SIF ISP (BT 033-30% I
G| - FTNHEAT ATFT I FHSET HEsTe ST 3 THA I3 [ 91 A | - 7%
A (VF o SHOSHNE [T FRET | - OfF ASHTAT MoarTa f&et s a3 e aF
ST AT - 38 T2F JO% FAE 1F fof (TR FoT ©FfsT FEF ICT ST IF| T 5: Bfers
S 5@, HSC (S8, TR S [ai={mey |

Question 37: 3@ IfTF@F FEF IR FAN AN -

A. HIAT
B. @Sl

C. 89341
D. sRgAtear

Answer: TENSE]

Explanation: - 18T RSEARGE &S FXT STHRGCT A FE| - AR TOH SF
(PR T V@ Ty AR DL BF FE| - 38>y AT TS A SICH O
STRTTE FIHE (TR FEF TI1F N SIS ST TG5O TH ST TG | - HAA]
oA (¥ [ 2002 AT (W@ FSTe] AR STaCT (Sfes 3 AFF I(FPEa A6 g =7y
ST TR AT TGO YA HG | - RGEHIGA N N CTF DT BT
T IRNAREAT




Question 38: IRTWCT SIEE @ M6 SIF 2 (&1 (SN ?

A. CTRTR
B. B9 7

C. S
D. Hfawed

Answer: HfF9sd

Explanation: 205-30%0 SRIRE HATIF (Gl b T37TH 2AM® b,5%,50Y (A(EF 5ol | I
STRTCT ST | 113, TRATGCTR S (ST A6 (@ 116 S8 57T 2| - IRACT
THFNO G2 ST =16 51T T 7 (1T 932 (ST NG| (T2 FA FHF-30%01|

Question 39: IRTA@CT (N6 NI NG AH7TT-

A. X (6 8o T 957
B. X (FI6 ¢o TF a7
C. (31 ¢ % 959
D. X (P16 S % 9F7 73516 Tifed a1 T@®

Answer: X (F16 3 % 959 T4 TfedT 91 3@®

Explanation: $f¥ SR F¥5%-030 SAFT: - (16 AR S - 3 (FI S TN 957 -
A T S - €R.5G TaF AFF - GR HHIT S - $05.58 T AFF - fodf HHfT S - 8b.50 75
AFF - B1F B S — ¢ TOF AFF| (SATA: P HETTRAT %-30%0 : TBI-850)

Question 40: SET TS (FF T I FEF ?
A. G SR

B. NG

C. bR

D. ST

Answer: SINANT

Explanation: ST&ET IRTGCTE AN JHT SIS (TS| TINAMRE (ST STET RIS



ATRFIT ATF ST QBT | ARSI CTRYE, (a1, F25F, TPETE, SNES 8 Glasaeng
O3 AT I FE| B2 AIFARE (FelF SFITRG |

Question 41: 9141, W1, FOF- IRAT FFAT AGIA (@1 [{FefE?

A. T fRefe

B. =¥ fefe
C. fesha fRefe
D. goT f[Yefe

Answer: goiIT [Fef&
Explanation: =i fef&: 5| fF6ia [efe: @, @1 goim Fefe: @, o (fw), 7o

(), (8, TG | Tz MHF IFyFFl I3

Question 42: JIfSAT" =T Y 172

A. a3
B. ferT
C. &l

D. sfwg
Answer: P&l

Explanation: SIS (R S FERT; S0 (FHA@ S ASAH-H@FE N 76) |
IS (FIANSIT TT) | T2 TRAT AFTGH ATSHE |

Question 43: IRATFS -TOIF T T (FIFG?
A. F19F
B. fif¥e
C. (Fuar

D. (¥eTeT

Answer: (¥



Explanation: I F3 -T05 TG <7 (] (VHT+IA] = (Fe7elT) | F© F3 AT NS
T FIAF (VF+P) | . THOF IO 8% SIFI-FFT, T. TATS TP, T2 9S-I

Question 44: {55 (@ ©FF T ?

A. TS
B. &
C. 3945

D. TG
Answer: T\ﬁrﬁ

Explanation: Tgf51s <5: SIS, S, SN, FBrE, Sur, 519, NS0, =fu, Jefs
3enf@1 Source: IRA ©FEF FFI, FIN-T (T |

Question 45: Attested' -17 IRA] TS (FA6?

A. SETI/SARTST
B. T&ii®
C. STey IS
D. Teyf®

Answer: Sy Xe

Explanation: 3T AFTGRHF SPINGF SFSAT 32 (A - Attested - SenfIw| Certified -
gei¥e| Verified - fofre| Authenticated - SAFS |

Question 46: (FE06 8% I ?

A. T

B. (IS

C. (=91

D. (AT

Answer: (1339

Explanation: @é’r@’( JCTR): S0 SO AT, FG; (AMR=Fre| T2 IRAT AFNGH AFSH |



Question 47: BTRAT (@ CINF %7 ?

A. Qifsr

B. G35

C. 7

D. SrE-G3 5y

Answer: JH-935F

Explanation: % Sge % S5 RFeei IRNT F5330 27, (ISFME I 27 @S
| (T - 5 < 54, - 10y < w5, - HifE < [, - 565 < 576y, - (WA > (BH=AT 2951w |
TR2 AT O IFIA, FIF-TF T |

Question 48: f&SifFAT =6 @ @RE-

A. 5FF =]
B. Te1F 3%
C. CTI1F 3%
D. (J® NF1F 3%

Answer: (3 ¥FF 3%

Explanation: &SI (Remy): (@ 019 390, SR AT TSe JRAT TG
SfSHT |

Question 49: SAH T@F WIF TPhe -1~

A. 57 + B

B. 5 + Siie

C. 5 + 5l

D. S5 + 5l

Answer: S5 + 5el

Explanation: Jia (5=)- T013: WO + el = SIS el + Ao = FeAlA 79 + ey = A
(SIS, ST + 5l = TAEHT SSN: TR ST FFR, FIN-TT I, ST 22 DY




Question 50: ST F6aT (VF §fF FIE F1 23~

A. Fevgfs
B. 7eo513fg
C. SrTeRfe
D. FRTFF(S

Answer: $&T33fg

Explanation: S T6a (A §fF FH1 I A ©IF, =1 20310 52 F @ 67 19211
FANF I 27 FRTFFS (plagiarism)| Ts3F: IRAT AFTGH AFSH|

Question 51: SfdT8" =6 M@ (@RTT-

A. oo
B. (OECTFT
C. SRUFT
D. NFGH]

Answer: JIRGAT

Explanation: S+d1s, Sa1fe (ACT): MFGH (S9ATS S & SE-AN=TF 219) | $93e
JRAT IFNCG ATSH |

Question 52: IRT AP STATH-7 TGS (oA~

A. FIETR TP

B. "M N

C. 39gtg fawystrsrg

D. I SN

Answer: 3ET SR

Explanation: f3e% 130 =& | IRATHEIT SE - IET6H SEHENT (SbOob-S¥8)
AYAF IRAT SHATHE % I FFe | - BiF 76w @ (Sboua) IRAT ST Afo® o3
TR(F S| - fSf ez, @, @mioe, Sfee, NEAEE, Ta39we 2o




33T ST SN Tod] FEGRT| - ©IF SANTHT AT (BTG |

Question 53: fF& AAET TF3 NTE A= | THT (FANI 5T TR AT N (FNI oS
P - AT (PN TooAT (NF THo?

A. (PTG

B. (51 F Ifer
C. (TF FfFe]
D. (SIS

Answer: (JT5ITTST

Explanation: ﬁ@wafjga‘e HNET A | THT (TN BT FETF AT T (FAF oo
AT IFTET TGN ST “CIMET ST (WP (TSI TR | TG e

(ST UL-528)) FAFTOIT (STGHITT 9F HA16Y 3 eI T arawer AfHAME Sararzer
FEA| - fofel IRAT MRGTT (b TET 9% | BIF IR ST NICTS MRfeTF M F471 271 -
TGN FIPER 5 TFIT© ST (FOTPAAE 26" (Sb60) | 5T T (77T SHATT
FECAT | 'FHAT TIANTAIG ATATG ©1R A A7 SHATN fRONF 5Tefy FAT T 1| » ©F T30
SO SAAH: - HE-TRE, - (G FIT, - CTI FfF0, - TSNS, - (NIRG, - G (@1, -
AT, - (ST, - A, - 51T T 30101 BTz RS ATNFS (TIFEIF 3 (TSRS SFAATT |

Question 54: (&5 Sf6F SHTH (FEIG?

A. 3RTe!

B. (027 9¥9 (oeba
C. NI el

D. aFG FIET (NIF FAT

Answer: 96 FIET (TIF FAT

Explanation: « STAPTSI IEHPNENT &7 Tolg aFs [(IFE 1 FANRASTF @]
fofar *foama Aag (GeNF ASTF ST 9F SHWE AN Sz FE | + BT Ih®
SIS - SETHE (I TAAT), - Holel i, - snaimI ey, - F4L, - semel, - TP, -
P, - 2 IEF TFPAT, - AF6 FIE GIIT FAT » ©IF FICH 8 TRTOCTT J[SJ@P (79
I 60 AT AFTB FIE (TIT FAT| + 3 SANT (F-a1T 67 T TT 9F6 FIET
(| B8 MRS AANFE (AFCIF|




Question 55: FET 8% SN fFF:

A. (OS5I AT
B. ¥ A TES
C. ﬂ!@ﬂ[ﬁ

D. (WTorsl
Answer: (W ToTsT

Explanation: ST 25 958 IR (FTAF| - O TRAT NIR0OTF TS AT
FATG 7 2@ A | - OFF (CTHACTA 3 AT AT 5HFHW| - ©fF FMow TAATT 2o
« FIE IT% (92 ST (TITSIEF FIRAT [TFSNE O A0TR) * ST AN (T (92
ST IRTCTT Y@@ (F4 FE AM0W) » I S, « FG5 Ty, « S, «
ST, « (YTEF, « NOF TR FeTfT | TIN2 AT 25 3 Wfd S |

Question 56: GIF] T3 RS TRAFHT TMF (F?

A. ST S Si%d
B. I SIETETH
C. *Ts{ [

D. $F54 AP

Answer: FBET JASPFIF

Explanation: B1F] (Y@ FFITe T3 F RIAWT 'BIFT TFTPT | SBUS ST FH64
HERFANFT TUAT F3N FFIe 27| T3 TR ST § TifRes f&esm™y, ©. Chfia Cra=|

Question 57: SiTagfe’ FTF FoaT?

A. Bg64 fawsIsTa

B. (AT T8O (=T
C. refogmd ==z
D. G TP

Answer: ﬁ“ﬂﬁré‘rﬁ

Explanation: SI3agfs - FTwa SITEF e8It aff S»53 T 3Fre | - afe FRa
HfZord fFol1T AT | AN fSfF ©1F I (A S5 I=g I 74T FET FIRAT 8




HBAA] IAN] FEA| - FFER, NOTOId F0, TGO 30314 OTF 3% | - ©IF J FIH -
fafey 57571 T35 AR O 8 TifRey fFea™I-T. CNfia =1

Question 58: flaa% i "Tarfer ALHH RE© AqIW FES (F7?

A. sTTteT fora

B. fat@aee 13

C. 7Y (BT

D. MR T 73

Answer: SR A0 WG

Explanation: St Yo ST Gla3y fira afbe Jie-u=fe 63 a31Fre 271 - a6 6171 (3@ 31 re
= 1Re1FH | - A Native RANIC NRE YU 78 97 RED A FEA | A0 SBYS
ST Nil Darpan or The Indigo Planting Mirror STt S#1f1@ 271 8352 IRAT ©FT 8 WfRes
foes-T. CNifsra CrHg

Question 59: ST SIOAT S T S Jfe, ST A (T SIET I BT 574 7o
o1 (F?

A. ST T

B. T o I
C. FGT 55

D. N9CIRN ©FFTHE

Answer: NGRS OFTFF

Explanation: SIS o TGRS GFTHE ST SO SN T J IfeT, rnforet afay (30
ST 2 Bfel| ST FES IR (NF SFNS, A (T (12 IS FH S N | SRET TFEAEG
(T SR, aF N NF (T T NN | ST (RE@F S T FF (477, "MoF T/ (T
MR B @ W @@ TR 22 NF FET G, B 330 Fg (@ AR A [ | AR @S
(T ST A1, fF%00 FRIE (@A TR (1R HifF | ATST 1 FH (I Fg IET TG FHIE
oA 92 I @ J@|

Question 60: TX9 (&1 KN FUT AR?

A. 2Bt



B. sTsTferssy
C. ooyef
D. (Jmet

Answer: @&

Explanation: 5T IR ST I3 FIBIF/F[OT RFA/ AT eFaa| - f6 IR
MRSTF 9% JEIF AF1a e T - T. 2795w N8 $»oq S (@ NE 18 waEd
ST (A& Af6 ATHT FEA| - AT SXTSE TodT FEF (@ TSI | - T ™
QBT FT I @R B33 RS ATNF G (AFEIF 92 IRAT ©F] 3 TNfRey B, ©.
CIECIGEE]

Question 61: Fwed i@ e oY 12
A. THweF IS e

B. ST ¥

C. 91097 (ST

D. SP@T I
Answer: SNAF I3

Explanation: - Ta0ed F¥F - SeraRY/TNER I, - (RIS 57% - {7 - 728 71 Tors
AB® T | - IN@H (FIF- TNEF TR T35 SF-F1%1, TR W 3 TR SAT 3 NIy
ST

Question 62: 9 T1fag S - FENaHT oY 17

A. Fraanfag e

B. a%31a 3y

C. Ffraafag 8%

D. Q3@ J3J19

Answer: AF3a 33|

Explanation: fRa1fag weite (F01w5) a3 2 91 74| T35z IRAT AFTGH AfSH |

Question 63: (MN¥eS G- TH6T o F1?



A. BTG G

B. (¥ fIaifzer Mt FFam® o939 &
C. offite (11fe o

D. (¥ T T 0T 7 F&F

Answer: (X JTRE TR 0T =T FE

Explanation: (¥ A& 9@ T1AT AferMferer = SHoie®! (I FEF I {0 A =
(FFeevS (F TFEF TS RO NE = (AAOAIF T2 IR TAT 3 AfRey SF@HI-G.
CNfa e

Question 64: SfAfACEa A& (F ACH JoEF FF q4?

A. FT2

B. J25m

C. fe=mm

D. FNA=m

Answer: NI

Explanation: 5% IR SN ABITEN T4 TFaa O NfXey A+ fq| - Soq o=
TRINRIET 2FEH™ A, (AN TRGHAIES ST (@ 57 9306 2f3e ¥ TaE
FEF| - SATIOF T HIFSTT R - RN, AW, Q[FAM, KA, ST T[N | - 2N
RTHEE 9P NS, B 3 (e HHSFT TS| - FANT - ATCT BH W (FIEAT HIRA
ST ST I fof | TN TR ST 8 TifRey a1, ©. CNfFa 3= |

Question 65: SfA® (F F6a116 ¥ TfReTd S@sfe 797 ?

Answer: 12 756 ST F71 T@®

Explanation: - (127 MfGFT TTRATZ TP 01 AT TeFeTA| - THT 0!
TN IRAT NRSTF AF ST FoTF1R5 | 962 A TR@Ta sesfe 97| AT Tore



@ @HIES AFE FAE@A | T IRA] ©F] 8 Wfes ™|

Question 66: JIFAFITT ToAT T [FAT© :

A. g sIdigER
B. 7934 t®Je!

C. fasmnt Hfsem?
D. TR« I

Answer: J4Ie Y

Explanation: 913 H (50 SIS IR ST A6 T 0= TSI 5% 93
§NT T B (GO STH [TI8F fIEIT (589%-5000) TS SIS S G e
6411 STfew difere At® o srFe, INF ToFd IR P ROTE I70 FEM, (7 FOEHT
T SIS T FER| - TR ST GCOAIT A Si - FodesTo J5 97
ST FUR N | T35 IRAGIT 3 FRAT ST 3 H1fRey f&veani|

Question 67: 3T TWEANF NG (I S TIFo?

A. ISR
B. W&l
C. 3o o7

D. o

Answer: S

Explanation: fw5fs (& R 33 3977 271 3oqfe Fayiy are Mikeid Ty e
N ST THF[ FTe 95 §I@F Flaz iy e e 8 IRAR e F7 27 5[
AT MO CTASTST N FF Ryl 97 S @ | J%T "MEAFTE Ty T=iFe
ST 202 - ST FEIEE (IO HH - (FHF TR | 97 TIF AT - T 3 F2 | Fre1fer
T TAGAE FHT TR SYH TaHS] o T | SNy SEENST (FT (T TfFo7 -
fawsTefs, SO, ST, (STRwrsT | TS 3: A1 e TR - NI DSTw 93 IRAT ST 3
TifRey foear-G. CNfa Crag|

Question 68: THY THIET 5T (FAG?

A. ofIxied JreTfe



B. *¥-S3TY
C. 319 faqafy
D. TwF (W

Answer: I (MR

Explanation: S SRIET 6w ST - SITaaT, Jhesb, T e, S5 e
BT | SIEIFAE, 93 “FHF i, I ©IF Jbw FHeE| Teq: IR SAT 3 HfRey
f&veaTST, ©. (Nfera A |

Question 69: 3T AT FAET AT 2T - Sf&0 (FT AN 2

A. IATAF ' (GTAF e

B. ME5EGES T WAl

C. 1336 ST ‘Hrenid 2fy !
D. IFI6EET 'TERY

Answer: IEICET 'TERY

oo

Explanation: f3& ey ST T 27 1- SfG6 IFACETT FOPRY (SbwR) SHATH (I
SRie TF®| T3 IRATAGA

Question 70: 3@ (SIS =T F?

A. STFT FAE 79
B. afe ffaf3
C. FrtenTs 5112 3157

D. NRE 7 78

Answer: NR(&T F 13

Explanation: $5©© ST SR NETHN 7g ] FEI ©fS 2| AT 93 FENOR BRI (I57ET
(TR T=F XA SRS 210 4@ | TIIGI® fofey 272 (J5 (T 71AT TSN
e 2| 27 FEET ALF FERMNST IO S5 I fofel 33 (F57T (SMSI® 1
(T | STATS MR NS TG I (TGS fCETel | 5[az M Nl W@ SIFeA-5(e
- (T 35




Question 71: @RI FRFEIT @FF T 94 FFFe T@®?

A. 59390 Hq
B. S\ N
C. S35 A
D. 593y Hq

Answer: S9N Hq

Explanation: - AR FXGIT FIS T 2TATHT A FITAGES (GO FEGT - SDIR
TIEE b SEAE (3 T, sozb) @RS [Fodr 9@y et s1e 231 - 5
(-SRI AETS FiIoT TS BY 97 'FA@Rl FAe R fofe Ire1era foaa1eEra famit
FA| - SF TCT TN SDIR FT ATHFE SIS O3 FAW@ F| T3 ARG ATNFS (TFEF
932 FIRAT BT 8 Wifzey &, . (Nfsia G|

Question 72: ST * AT IofA0T (F?

A. FIRT@ T

B. 20T 2 faretel
C. (SfefaT RICTS

D. T NS 25
Answer: X SNTEIT 3

Explanation: 5T SNfSSET 3@ “NSATM” (R00b) SHATHG (W [Fe1 ToofNte (T2
CHATTR PIRAN IHA (ST IPGT APETH T05F 9P S WG 9F JHfe A{AET 3
SRR SACTACT 127 TATACH ST (P (AT | (TP AT G5z AT, e,
I SARTE, R 2ov1u| T35 IRTAAIGIT 8 TRAT SR 8 Tfxey fFeam

Question 73: 90T (HFINE" fF2AT@ A JTF19 (F?

A. SIS STRT
B. sj&t= Wit

C. ST FA
D. STeI% NT[w

Answer: JFTe1% A1



Explanation: SISE RIS (& ST AFCT GFIME i F giere snfa' snafs s
ST (BIHAT XS (FHPAMF $CR ST ToN FEA| - SN S[FFIF AT A%, TS TP
TS NI | - ST TR ST (A (FSAT (52> b>) A SNAb IR FERA | TN
IRANAGAT 8 TR SAT 3 SfZy fSwemT|

Question 74: IEFF FIF TN AN TOF (T T5F ©NF It IE@?

A. Tefe

B. Srepsysf
C. 7917
D. 3159

Answer: 19

Explanation: F18F %{od 3 XE- I {HI] T 3@ | AFFO (FIT0T IO Imd (J
o5, O F F19F I Source: IRAT ST FFA, FIN-TH (47 |

Question 75: (@1 w51 ATSeRF 93?2

A. FUBTF - S9IETE
B. e - 5T
C.3%-@f

D. %% - I NS

Answer: %% - SRS

Explanation: - 2f&& (F013er): 3sa7die; 3%a] SIS, optional - A™AFANE (Rem«):
ATTFIAT; FEFSTYEP; compulsory 18 P T F78te 7% AIFNF | =57
ATTASEN® T4 [ATTOINF THSE IEF | TN ARAT IFNGH ATSHT |

Question 76: S5 3T AEEF I ¥T@H AEFF ?

A. TATGS AP
B. Irfdfes AEFH
C. SIS AfNFF

D. (Nfes SIS



Answer: (5% ANFF

Explanation: B JfSFF A4, Y005 (X0 2 A3 N® ©FF TS| NJFF GNe1F NI

Question 77: IRACT 'JI-@0POr's TGP (-

A. (T2 TRSQETR
B. f&i.f1 (9

C. S Fota

D. SIS Sl Mg A=

Answer: SIES Il ATQR4H

Explanation: Sed1iad SSF=FIRE e avee saadte (3@ 8 Jfeamml arffass e
SIS DA AGIIF (SD00-52%¢)| fof TER FERA 4T (STOI 3 o FREMES [T
AR TSN ST T FEEA S8 3 ST T ©F SN0 | ST ST TFIF: -
STOTE ST (5299), - FBIZHT (5299), - AP (S>B0), - YA (S»>bY) 2eiv| 46l
SNEES 213 o T &g A foeee a11 ©fF TR 4T f{aetm et &, it &ei ey
obfee wefieT 8 deEd | fofd FREEE Ol FA© IEIR, H3HF FF| AT A
MQHAE A-(AfoFOId TTOF RTIEF A FAT 2T | TN IRAMGAT|

Question 78: INAT (T TAIGR ININ FIH 1 (Fd, AN FFER O] F51HF RSTF TSI
FfF1 aft -

A. e ST
B. SIREF AT
C. IREF AT

D. AAOF 8 SIS ST

Answer: TGP 3 TGP STl

Explanation: FS{A1eS TEY AT ASA0F ACAT 3 FHPSE Hb1Te 8 fxfzre

FE | AOANOP IHENET T TR - AN (N b1 - AEH S STy T - ASA NP
SR - AOANOD [T TS | T JNEHSE ST NS 3T Tl SAeyei1fere
FE| (A CTRANS 8 SPINS : PTG (T : FF7a : (. GISICHT 39)

Question 79: Y7 NS NAGS X -



A. sTfed

B. fe1d 5574
C. wfays

D. SR&F S

Answer: JRR&F TSNS

Explanation: SI3@F *Ta ATHE CTAT [A61F T[53°%], TN a3 sTored fodft: I T
AT | TS TST TANSH A3 T AMREF TR | @2 (TSNS 3 SPIT, A3 -797T CINg
@16 B, T2 (A2 G 25 |

Question 80: fI7e @F 97 NGB F@IST FaT I~

A. TERET @

B. AT (F@

C. Ife3RWT (F@

D. Fife® ST S (F@

Answer: PIfR@ TGT SHGISIF @@

Explanation: S5T% SIT@ NEF &8 3 F25Me SAGTE-2M6a HFp1fTe 8 f3fae 23
HETEE T SO O T3 FoF13 Sgfo 7 fF3fae 231

Question 81: TN I <& 2CT-

A. ST
B. sired
C. SPTa
D. s:gfe

Answer: W3

Explanation: S5 ST MET HfEsTe 3 TA5Te ACE-a6a 51T 3 fomfae =3
SETETEE FIAT| S O TFT FAPIS TFS TR [V AHS 27| AN T FAGS
ST SAGTR-ANCHCTT N (T TS HHeI5e 27 TFe TGIE OF 1w A6 CTaF|
STOAR MFFS 2T FMENET SIFFPIE | T35z (NIAMS 8 ST, JAF 7@, AFT -5 (I,
SN (2 BT 35|




Question 82: If(dfeF (F@ TN fofd® 2(-

A. qS 77 =T

B. (FIENGE &

C. SIR@H e fefde 27
D. fafarnst 3w sy

Answer: fafa@st 3w oy

Explanation: Iiftdfe®, TG 3 THNRHF (F@ STINET 8FF AT | - ANAGF (F@
SPTT foP6® 2T Srftdfod T3 oa1Fe 271 At FE & [ 8 FasEaar 3 sy
& | HE FHRI I T 3 (FTFET N M| - SAIoF I T [ s
TS AR BT} 6P (Ha SPI Afefde 2 R[fammns Ifa a1 (oxma: (a8
ST © AFTT-GTT G : SITa : (3T, (TSR 29)

Question 83: TSI (I -

A. SR NG NS NP T Ty ef1ger

B. e[ Mfod1fas FEa s for e

C. TSI TET I 28IF FTEAT SA
D. NEA 6T ARGV AfS 3 N7

Answer: NTo[XH SCR AICANFIN NS 3 A3

Explanation: - [T (T N[ AGHT TGN S 3 [fo | - JTENET T 3
NAIF T R AR | ARINF (YR [ PI1F Joel1 27| - FEI g1 sreey
AMeOIAF S 2 AErF | awroT TEfeF Sifedifs, o2, &, Jraf 2enf™ JERENET Ao
T RRoTE fAEe | (a: (TRAS 8 SPTNE : aF T -21T CIat : Jws7a)

Question 84: NMSTET SSNe A HNE, ST TH5 3 ST ZCT -

A. wfaw fAEnse
B. GNf«TS SIS 551
C. MNATT THIF 3 I

D. (Nfers FdiTerg SaT




Answer: (M@ TFTeT TITF

Explanation: SNfESRE $>9 ST TS 8 FHINTT SFIT NHF AfS@0e FFTT FE| 9

S TS @ T GfeB 9 HEF | SIoRET AfGNe AT, SPITET Ao T

T 3 ST IR (TP TATOIT SFAIA | (FAAT (1P FRTOIF STIF Fo1® M IFF

TS G ANFTITR TS 27| AN (SN AH1F O7IF 3 FHT 6w 271 Tt e
T THIA HG 932 WIHAW 910® 27| Tz TSTKET SFINRG|

Question 85: SPTH SfSHF ASET FGT 20T -

A. STFTF TG SRS BT
B. f[&d SIfEFF (O F47

C. ST3STE FIH-JeS ST
D. fafire 7 oW Fa1

Answer: f93f¥e F7 Jue Fa7

Explanation: ST A6 TSRS TE F6F I - e F7 T0ia F4T, - SR J1o) F47, -
STSIT S50 FH FAT, - WIS (I b1, - §8 3 (ST (A9 A6 F4T, - A T wie
A1 2N B35 (NFANG 3 ST — T (N2 (NSCHT 25 |

Question 86: FNfET:H (F N NFIEFF T (@HF @FNF PfeNF AT 5=t FE?

A. Rooo0
B. @Y
C. b28¢
D. Y28%

Answer: Y28%

Explanation: $»8% ST ‘e T NHINEFE FRHAT s1fde 71 FHM THfEFET
RS (FFAT A7 ATOT FI@H Tely A6 FAA 9 FE | - FAMA TFOFS AT b8
TIET So fETTT FIEE T SeP© SONE ST A0 AN 7o 271 -
MAIEFTET TGS (T (6 wo b Treaw T@@ | - ST [, Afeq=d vo GoHaE
far=y SIedTie s NS =257 RETE e Fa71 3| T2 SMOTET SHINRG|

Question 87: OIC - 97 Fows ¥ YCHIH F5T, (T4 ST T SLTIR FEA?



A. 99 T SEIEE
B. ¢ ¥ e
C. 8% S Segee
D. ¥ T SeraE

Answer: ¥ A STETE

Explanation: $»b> ST ¢ (6T FI@F IO TS 3T NEHA 73T (S3RI)
FfSfd® 2| - A7 TUI9FF (N NFE@FT GalF| - SARST T (W ¢9 &1 - IRTE@T 5298 T
TR NN ((FoHT SR SR T0ysm e | - IR T Tewe 5o fo I=a
T 7 o[O3 | - AR A ST 0ff | TAT: A, @ 972 HAMY| T:
3ONEY SITRG |

Question 88: MNFIE fA3fFE FFAET FH T 1T TG (FFIMF, 05> ) THNEAF

A. A@GIRW
B. (FIFGT
C. {6
D. &6

Answer: Ao

Explanation: "I orafde FPAET IENE L 9R0T SIF6 06 (FIME, 205 ) THES
farsner Rretety ST &1 sja: &y frss|

Question 89: fVEF (FTA (0T 2033 W G-20 FTSHHF NCHAN Aeffoe II?

A. 3ot

B. I&918
C. &

D. o199

Answer: ©qw

Explanation: - 203 T f&-20 SEFe Se[d® 3@ ©H® | & SHO 2033 WETF f&-x0
ST S RO e 218 fFmm SeHee o AfFadel Fa1 21 - 2038 ST FoIfT 93




STEHT SIS FAG | - 2038 HTET M f&-x0 ST Seffoe 2@ | (A f&-x0 STITNZG)

Question 90: T ARG AT HFGT =S 6T (F?

A. 3T [T
B. (3% fosifebey

C. 59 e
D. IS (Ve

Answer: S0} (N

Explanation: i Si3fea om% SfS6T 26 (@& I3 Sy (T aFf6 TS 531 200
ST SIS a T30 FIoame 0 RefF o Snfsos' ag FAETsar 8 e | 'fa sniRfedy g
G 9 I[ETHT JEA- ATTS] (T 33, F-fvefifae snaen 57, fAfes Afatere @
TEFID @ T AR {619 F0© 3G

Question 91: SFR (F1F LIV S (A6 »> TREF Ty Ao (77 TIR?

A. famrat
B. (NG 319 Fery
C. 579 IF
D. IFFEIGT

Answer: JIFEGI6]

Explanation: Sie:F1a ufSe FAENS A FO (FITTOSIR ST AFGI6! TSI
SEA~AM » fETEF, 2059 NEF fSorE S 76 5> @ Ty 775 (77 T3 7717 |
AfS SSTT=AT JIfRT AT (5116 AEIS =fAfee | FaE IwEa 9@ 9 T4 o= fF6y

JR8¥ NJLqn{|

Question 92: W Guantanamo Bay Detention Camp (F11¥ SI3fFe?

€25
FYE)
SRS
IBICEI

oOwp



Answer: {383y

Explanation: STHSIHIGN (I MNFH JHANRF 930 FEENF| 92 FETSTADG 2003 BB
oD FA1 27| MFF SR [T ©-NSF IRE [FOIR uf3per-F =0T FHRII SAEIE 97
AT | N T 35 AT A OET Tely FATS | - FIT OTS 2 [FOAT I 50
TFANRS STFSAT (F FIANET 236 SAFS 3 (AT 3 FHfFF| - a3 Fif 3@ o/
TR S SFG© 3 TREE Sy ¥ S SIRHET NG 137 o7 - FSINZH
SRS A1 T8 98 FIIE I (T (WF | (©¥qa: FoifaT 8 FSCISE, 38)

Question 93: (GFN2 THIF TFE 2090 AT (The 2030 Agenda for Sustainable
Development) (© F3fb 55 ( goals) TR ?

Answer: N9

Explanation: (5352 SHIF THIHNAT 2 SIS NIH[0P SHIF KT SOTH TAIAPS
AFYR THA@T| - 97 (I 2054 (Y@ 090 NFT| - 418 (N6 Sa6 THPEr 3 S &6 Jfafg
T TGS TA®| 53z UNDP SFITRG|

Question 94: V-20' sF5 fFeig T T=1Fe?

A. 3 Sz
B. wifsw RGeS
C. fafamns == ifFe

D. eI SIfEee

Answer: eI fFT0

Explanation: 3% SeaR SfHI@R [ G =% SHre1d F5ia=s @
ST AT FIEE e AT 2016 (P NE b AR 205¢ (1 T Vulnerable
Twenty T V20 TG 936 T (SIGA 1T BF 2F| TTT6! I24 A 50T AT {6 (7T @rs1e
@ a6 SfeEa Sa3a F356 UNDP-a4 Climate Vulnerable Forum -a3 ST SIS
SfG® | T35z V-20 STITRG |




Question 95: SIS AU A2 F© AT SIS T@T?

A. 5999 NI
B. Y23 I
C. S99 NI
D. SR A

Answer: SR NI

Explanation: Ses:&T S3uITF SR+ 7 United Nations Convention on the Law of the
Sea S»YX N MURAIF PO SIS NI IFHS AF0 {f&a BT | TCHAAG S»9©
(A 5B T TS SEIReT | 9 SEAG UNCLOS-III J1ev8 =ififew | 71857 b1, (eiieeiseT,
TR, STOIF SPUee, (TSRS STEF 3 U TICF o [IISEN 4 §fed 37 {7371 T3
SIOTRT SFINZG |

Question 96: fRTI THCTH ST A (FETTHH, 205 ) (FINT AefO® 37?

A. (@3S B
B. WIS, T
C. (a1, 2oIfe
D. FIGIGR, (RS

Answer: ?FI(BI@EYL GG

Explanation: (TG Gy 28 Foleh (RO, 205 JE) 7 Sy seges
effDe A | S AFTO [T ok EF 77361 UNFCCC CoP-26 STHT 203 N
5-5% AGFF JSATHA AT RE A0 2@ | 92 NI MNbA1F ROTF TeIer8 T]F AFE |
UNFCCC CoP-26 SICHee Y030 N J[F® 28IF I AFEIS (FMST-5> 97 FIAC S
(STRIET 271 (a2 UNFCCC 8IR0)

Question 97: Sunshine Policy- 93 ST (F1d 76 (77 Sfb® ?

A. B, Fifar

B. TR3TT, 3

C. I, AZHS

D. SaF (11, ufdpe (=T



Answer: S (ST, wiper (AT

Explanation: - 52 (FIHIE ¥o1F SHI@H 5o S2»0-97 T WiRpel (FIFAT 93 Ao 2
FE 1 TR AT (Sunshine Policy) a1 sifafebw | - a2 sifeifg snge w2 R ¥
(TS NS FEFMH (99 AO© 2T AT T57F JS1TF FAF (GBT GFEET 2F| - ST
AT T Gl (PIEIE TP (AGG fF5 M@ 5| - 92 AT (W fRET v2dB-3000
T o@| TS 5s Ao s

Question 98: BRICS $93 6w IR o1 20%-

A. International Commercial Bank (ICB)
B. BRICS Development Bank (BDB)

C. Economic Development Bank (EDB)
D. New Development Bank ( NDB)

Answer: New Development Bank ( NDB)

Explanation: New Development Bank (NDB) I1al 8= F(d 205¢ S 9 Sfﬂfl - NDB
SO SNF SCEHAT B 2T 2053 HEH [FF TCHAE 972 a 6 3058 NN JIeveT 535
SR §io TS0 27 9 f6fa0® 205 ¢ SEF 9 FETR WP ©Id NBD ©F & 85
FE| - 97 o5 661 ASE 2w 87, A, oFe, T 8wl MBI - TRFHE T
STACTE CTATE SRAT ST 20% F@| 267 797 wad Si@a kIR 2 935 | (Ja: NDB
SIIRE)

Question 99: T fAEa @9 WHFFE (Iore TS TG NI TEH (FPHIATe T=5F
FT FER?

A. sy
B. sy
C. TR@Ef=T

D. ffe
Answer: f&3fe

Explanation: & Sf%FE IR-1-N0EF ©IF 50 (FFRTTeSF 89 (216 (77
f&3fe 1 B 2059 T f&gfore NEfE= Jif6 T FE | I AF 3 (FPTTTesd SFg
2SI Tefy ST (AR (P60 IS, FIH 3 TN TS Fifo TR T35z [T forgan




Question 100: fAEa @ TG ABIET IRTATET FIFF© ?

A. SAARC
B. CICA
C.I0ORA

D. BIMSTEC

Answer: BIMSTEC

Explanation: fSs(G& (BIMSTEC-Bay of Bengal Initiative for Multi-Sectoral Technical
and Economic Co-Operation) ITSISIE ©IFT6! (THATE aefed afidfesd &G | - af6

S»9 ST A6 2F| - 97 T T9augF A GIFR| - 97 IS 57755 5247 afb | aSET
XA AR, SIS, T, YRS, FRANE, (@1 3 o | T¥: [IAAGCF SFINZG |

Question 101: f[AGa @19 F76F TR T0g w9 (@22

A. NATO
B. ASEAN
C.EU

D. NAM

Answer: NAM

Explanation: $>¢ ST T3 (REAENET) STCHTE JEE (GG A0 Sieee 37 a5
(NAM) afSfoe 2T1 S LS STET TESF JEMENTSITE TOETAT (FEES T AT T SCHere
SeP© 2| ARSI TEATH S b8 FET BET FIENS Te[[O® 2| - THCH SO AT AT
TAFE T 2055 NEF ¢-}Y ITITH ASFIRSNAT ASHA TS| - ATCTT TSN 057
2T b0 AT THEHS AT AT 91 - 9T (@ TR 50T 78T (3| & (T (W07 A
DS 2@ (2 (0T TRIEF FRFN 61T 7| a: T STITRG |

Question 102: STfeY fF3IF SETEAT 3¢ (P5) Feito fF 3?2

A. STEF (FTEATGE 97

B. T6fG sty e 18

C. *I15f SNfosT 518737

D. faasrar sfaama =1sfe DT o Y



Answer: f¥arTaT AffRma A6 T Tww I

Explanation: f5Si¥ faymaa a3t =fe smmifE - 81, H, TR, o1y, Joa18
SIfes @ fareaT AfEFma T 951 93 =16 TR 9 @ e (P5) F1 27|

Question 103: 5% AT @& CF TSYE?

A. SN IH
B. SSEIRSA
C. TSI

D. (FeEET

Answer: (e[

Explanation: FFHf6 (M7 AT - FTOTAIAT FQ AT JF ST | - STFIET
ST PR | - TGS IO TN | - (IR O 3775 |

Question 104: ST IS fYTsTaT TCHA (F1H ST (FT A D TA@?

A. (CGFS, o0

B. M6, 208

C. (®=TE, 2053

D. fS1Ea , 0vv 4G ST F41 :@®

Answer: f537 , 05 T16 T1fed F91 1@®

Explanation: S0 G fAaTsraT SSCUere (¢9-8%) v (FFIMF, 203) SN ST
FrEf TefSe 771 IRACCTT FHENAT CT TNAT TETS A I S e Sfaa
BT ST (AT, ARSI (SIS ST sTiel, BrEa (IS5 AT HeR
-, @ENEEE (TGS 75 2RI, 28@ER (NG (Al CETTE], FISE
(G 57T FIEIE, FTSIEF Ao G ST e 20w et A1, Tia e SO
THF FSTTE AFHIET T 23R @1 SsT: TEGEE Fenb|

Question 105: (F (W6 20@TCIE FHF AP AIF0 JI?

A. e
B. (TS



C. SR
D. S 3n

Answer: Jf%3T
Explanation: =G 6@ 66 I97 2 fa; J0F 1P I @R | - APTIT Ao AP/S59

(@ S 7E A5e | TS AZ ©fo| INT- - AT, - AT, - PR =3
(TS, RO, (GANS - Tohe AF3 0P THMEF PG FIFe | Tz 3G B |

Question 106: AC (¥ DC 3919 I3~

A. TS

B. SEHIE
C. taferog
D. FFGHIIEF

Answer: (@S 6HIF

Explanation: (FFoHRTR 2T 9376 @ifed I7 1 g1 [Rgjs o377 (AC) (F a3
fa958 5/aT% (DC) 2 FRES FE@ | (F Twfee AFI6! FARE (A.C) 4% (D.C) TAR
ARG FE O AP T (FHHHE I (Rectification) IETI 932 (T ISAF TRIET 4
3T e FA7 27 OIF 31 2 AFIAFES JN (FFOHATA (Rectifier) | aFINFES
TAFTET | TN- (F) TG AFYAFIEF AR (¥) T BT IFYNFEF | STz AFTT-7T
N IR 37 70 32 (SYS) |

Question 107: A58 e 1 fete TN F1 2T (1 IEF JH -

A. TGRGE
B. SWEHIE
C. (BIE6T
D. IS PeE

Answer: oG PIFF

Explanation: MGG “MFE 853 & T+ TfH© R TREEIE T & ofes Tee
FMBRS 271 T2 S5-537 (e s fsaray |



Question 108: IETHT AUG] T IET AN [F7?

A. TREINGE
B. sfsfitE

C. [ENeE
D. 2RE™GIE

Answer: IRENNGEF

Explanation: ITeTE Sl A I@EF A1 TRENGIF |

Question 109: %G IF "60 W- 220 V" (771 3z | I1=HF (71X F6 82 ( Ohm) ?

A. 16.36
B. 160

C. 280

D. 806.67

Answer: 806.67

Explanation: 93, f®F 3, V = 220V Fel, P = 60 W (T4, R = ? 9171 fey, P =
V2/R 91, R = V2/P J1, R = 220%220/60 R = 806.67 3%

Question 110: FIIARIST FAIAIT B H-

A. (o

B. ST

C. 3

D. IS

Answer: JIETH

Explanation: SRS FIETAIE S35 INFTSHIN, INATHIN, (N, TS, INFRHET 93
fErAmiier| TN TR, FIF-713 (el | AIIATST M1 AT FITINTSTS T ZCEAT AT
&, A FATF T T T FH NT | TR BT e S fo¥s 0 2@ T3 =71
SurRaer (NAle, IYSATR, IMTSHIN, Se[aTe 2evvi saz e, Fas (14|



Question 111: FIERRWEE C, H 133 O- 97 IS $&7?

DO w>
v v v v
&Y e 6
Cf.x;zf

Answer: S :2:S

Explanation: %87 31 FIERIEWME 297 9F Y@ (69 AR 0 I1F A6 e
FREF(C) Y TRETEE(H) 972 AFGH(O) AMF | T8 FIHA(C), TREIEE(H) 933
SARHEH(0)- AT AO S : X 0 S|

Question 112: (NI AfNGHGT &Fw -

A. CH2COONa
B. (CH3CO0)2Ca
C. CHCOONa

D. CH3COONa

Answer: CH3COONa

Explanation: Sodium acetate/Sodium ethanoate- CH3COONa

Question 113: FHF BIFITT T30 7 [AFFEFT OF F ?

A. SIRTTGT
B. SIRCITE
C. IRCTEE
D. SIRCIGTT

Answer: SIRHETGIT
Explanation: F5=11E, fGNE 3oy (@15 (@ a7-(F T737e 27| FeF, av@a fofFeTy

Gamma Ray T192® 27| FES BfF T 1920 ST [[{fFa0EE T3 - (F1RT6-o (Co60)
SRCIGTT|



Question 114: A7 (SfFF &efy Sfew Y (A SR F(F -

A. SIS

B. Sy Jrosf

C. dRETE

D. F49 TR-IHRG

Answer: FEF TR-AHTRG
Explanation: STETFREIEE el TIOAIT Soar 86 - e, F1 TR J=RS (92 9fe

FHTE), SHETTE 3 @A | STF A& T 3 @A A ST (FH (N, FIFA TR
AHRG IS (V@ 93 A T2 S F (@ | TN FI7-77 (N« e (@16 33|

Question 115: %,,Cl (M@ fACET T2 F©?

C.35
D. 18

Answer: 18

Explanation: (F19 SFN(® SINRAT = (A6 + fT8& 572277, I A (9T 577 741 27| AR,
SITRATT 2CE, (NG TR 8 [ASET T2 (JT5THeT, FIER SR (N (A6 T2 I et
SRS fASES AT MSTT AN | A, Cl- 97 SHRAT 35 AF2 (ANBA A 17 | S[@AR,
fSE FAT= 35-17 = 18| TN AIN-TH AT NI (IT6 3|

Question 116: (FTET FRF " [TS7 ANfF AT ©F [FOIF T [T Fa1 17?2

A. gXtee
B. Iriteas

C. SpoiF
D. ST

Answer: SR FP

Explanation: (FIET F " I8 T1fF AT8T BT SRS 97 JETH fofefT FI7 TT| TS
NS, FIF-997 (fef |



Question 117: IMTENG @ [T T 37?2

A. Il (TS
B. faewaer

C.

D. SNFeT

Answer: /99T
Explanation: SIS ST 433 FINTS [Fonaer A3 ooy 231 S35: I, JI5-9+73
CIfer |

Question 118: (FINT NTG1F FI6T T2S1?

A.TIRE
B. AT

C. Jtlte
D. s

Answer: SIS

Explanation: (I =9 5o7 (I (57 MNfelte ST F16T F28| TS Af© 2.¢% (NF 9.¢%
T GO® ST ANF | T BT I, 4t A1 f{ETH M (6 T[@a e =ovg (37| ©1R
ST Afete N F161 729 27|

Question 119: fS® (&1 fSbIfE (727?

A. fetifere -a

B. febife-f

C. febifa-fe

D. fetifere-f5y

Answer: fSbINa-Y

Explanation: fSGIE-fY 98 S5 a1 Sim@afIs AfNG | TREW ST61T Hel (Fo0a- (719,
FAANEY, J61, AT TG fSOINA-1 TSI T | 5F ST HeT (FoTaf- SAeA(F, AN,



SRS TS *NES-TIE 3 HeT (I~ IS, FeTF(, 7R <P 2efvee [SHIH=-f7 sNe3r 77|
SIGE @ fSBIRa-f7 oy et etz | f&37 8 g (@1 fSbifsa-fiy @21

Question 120: (FTAHF Ty 5o A3 3 v 27?

A. FIS@TETS
B. @TEETG
C. (FTGIETS
D. (FTCNETS

Answer: (FTEETG

Explanation: Sf%d #1560 © 832 - FTEIATS -- NS AOF; - (FENATS -- TS IF61S
AT AT 3% - TSFATE - FaF T | 72 FIF-77 CIANF SIS (@16 32|
Question 121: Which one of the following words is masculine?

A. mare

B. pony

C. pillow

D. lad

Answer: lad

Explanation: Option ST M lad (1) IE masculine T I6F | NS option SN
& bitch 97 § $37; pillow S e ; pony 1 BIG (ST AT (=IB (ST

Question 122: A man whose wife has died is called a -

A. widow

B. bachelor

C. spinster

D. widower

Answer: widower

Explanation: A man whose wife has died 3118 (¥ & F AT (SR BIF I



widower 37T fIs7S1F | a=1GT widow 31X fI%3T, spinster a1 @1fJ31fzeT e, bachelor w1
afFFIRe 7|

Question 123: Which word is similar to 'appal'?
A. deceive

B. confuse

C. solicit

D. dismay

Answer: dismay

Explanation: Appal: SlfefFe 47, fg® F471; M1z F41I Dismay: o1 F47; Moo 41|

Question 124: Which word means the opposite of ‘dearth ' ?

A. lack

B. shortage
C. poverty

D. abundance

Answer: abundance

Explanation: Dearth 9% 9[&13; Lack 3% 91&13; Abundance 1% I1§%; Poverty S wifSws;
Shortage ar¥f AG |

Question 125: Tennyson's ‘In Memoriam' is an elegy on the death of -

A. John Milton

B. John Keats

C. Sydney Smith

D. Arthur Henry Hallam

Answer: Arthur Henry Hallam

Explanation: In Memoriam, in full In Memoriam A.H.H., poem by Alfred, Lord
Tennyson, written between the years 1833 and 1850 and published anonymously in



1850. - Consisting of 131 sections, a prologue, and an epilogue, this chiefly elegiac
work examines the different stages of Tennyson’s period of mourning over the death of
his close friend Arthur Henry Hallam. - In Memoriam reflects the Victorian struggle to
reconcile traditional religious faith with the emerging theories of evolution and modern
geology. Source: Britannica.com

Question 126: Identify the word which is spelt incorrectly :

A. maintenance
B. perseverance
C. convalescence
D. consciencious

Answer: consciencious

Explanation: Consciencious &6 Q| SfdF =f6 2@ Conscientious T arf Wishing
to do one's work or duty well and thoroughly 3T fAEFIE; REFF @7 |

Question 127: 'You look terrific in that dress! ' The word 'terrific' in the above
sentence means -

A. horrible
B. funny

C. very ugly
D. excellent

Answer: excellent

Explanation: Terrific (informal): excellent, wonderful ex: - | feel absolutely terrific today!
- She's doing a terrific job. - You look terrific in that dress. Source:
oxfordlearnersdictionaries.com

Question 128: Someone who is capricious is -

A. easily irritated

B. wise and willing to cooperate
C. exceedingly conceited and arrogant



D. known for sudden changes in attitude or behavior
Answer: known for sudden changes in attitude or behavior

Explanation: Capricious 9% 23/ S | AT sudden changes in attitude or
behaviour (2518 IEET 8 7S AHTG) YT S AHHT |

Question 129: Identify the word which remains the same in its plural form :

A. thesis
B. intention
C. mouse
D. aircraft

Answer: aircraft

Explanation: Aircraft *%fbd singular 8 plural form 932 & | Intention a9 plural form
Intentions; Mouse a9 plural form Mice; Thesis a9 plural form Theses.

Question 130: Identify the determiner in the following sentence : ‘'l have no news
for you."

A. have
B. news
C. for
D.no

Answer: no

Explanation: Determiner T&T&® noun 43 & 307 noun {6 A8 &1 STt ©1 faw T & |
A% J1Y noun news 3 & ‘no’ Tfb determiner T T13%® TA@|

Question 131: A lost opportunity never returns. Here 'lost’ is a -

A. gerund

B. verbal noun
C. gerundial infinitive



D. participle

Answer: participle

Explanation: Verb 93 (I & f$%51 verb 933 3507 adjective 97 F1& & ©IF participle
| AT ‘lost’ TG 9F32 S verb A3% adjective 97 318 @@ | JoaRk a6 Participle.
Question 132: The saying 'enough is enough' is used when you want-

A. something to continue

B. to tell instructions are clear

C. something to continue until it's enough

D. something to stop

Answer: something to stop

Explanation: I3 (F1a &1 Hoo] 7 I 525 Fo1d I3 5T I A% (61 I 4T
TS 9 'enough is enough' IIRF FT 27| SJOFNR, NfdF Gad T something to stop.

Question 133: He ran with great speed. The underlined part of the sentence is a -

A. noun phrase

B. participle phrase
C. adjective phrase
D. adverb phrase

Answer: adverb phrase

Explanation: Verb (& how, where, when, why B1ST & $1( adverb phrase T1337 I1F|
‘with great speed’ 31X we sifete | f6 IFF verb ran (& modify FE®| O afb adverb
phrase.

Question 134: 'We must not be late, else we will miss the train' This is a -

A. interrogative sentence

B. complex sentence
C. simple sentence



D. compound sentence
Answer: compound sentence

Explanation: %3 1356 compound sentence 45 SuRa«| Compound sentence 4
BISIERIC) 'ﬁ? G principal clause and, or, but, else, yet, otherwise, therefore 231"
conjunction BT J& (= |

Question 135: Change the voice : 'Who is calling me?"

A. By whom am | called?
B. By whom | am called?
C. Whom am | called by?
D. By whom am | being called?

Answer: By whom am | being called?

Explanation: Who J& 4 9019 J1$I( passive voice 3 @ FHIF structure (- By
whom + be verb + obj 45 subjective form + being + v3 +7?. (5 AT By whom am |
being called 3|

Question 136: An extra message added at the end of a letter after it is signed is
called

A. corrigendum
B. RSVP
C.NB

D. postscript

Answer: postscript
Explanation: Postscript (noun): - An additional remark at the end of a letter, after the

signature and introduced by ‘PS’. - an extra piece of information about an event that is
added after it has happened. T a1 - 3"t | Source: Oxford Dictionary.

Question 137: Sweet Helen 'make me immortal with a kiss' The sentence has been
taken from the play -



A. Romeo and Juliet

B. Caesar and Cleopatra
C. Antony and Cleopatra
D. Doctor Faustus

Answer: Doctor Faustus

Explanation: Christopher Marlowe 95 916& Doctor Faustus. A63{61 J&1 91 The
Tragical History of the life & Death of Doctor. 42 AL 36 fF3T® Bfe- “Sweet Helen
'make me immortal with a kiss"” Christopher Marlowe {2« Shakespeare 95 ‘j}&‘@l‘éf
AGIFIF| B Father of English Tragedy 7 37 932 &S| A6F A7 TSI NET AfodTer
CLIERIRCASHER DRl

Question 138: ‘What’s in a name? That which we call a rose By any other name
would smell as sweet’ - who said this?

A. Rosalind
B. Romeo
C. Portia
D. Juliet

Answer: Juliet

Explanation: T&@g GG Shakespeare 98 Romeo and Juliet A6 (A& (33|
63od Act II. Scene II. (@ Juliet, Romio (F ST FE IS Sfe6 S| 5Jef TIRTST:
Jul: 'Tis but thy name that is my enemy; Thou art thyself though, not a Montague.
What's Montague? it is nor hand, nor foot, Nor arm, nor face, nor any other part
Belonging to a man. O! be some other name: What'’s in a name? that which we call a
rose By any other name would smell as sweet; So Romeo would, were he not Romeo
call’d, Retain that dear perfection which he owes Without that title. Romeo, doff thy
name; And for that name, which is no part of thee, Take all myself. Source:
Shakespeare.com 3 Romeo and Juliet.

Question 139: ‘Man’s love is of man'’s life a thing apart, Tis woman’s whole
existence.’ This is taken from the poem of -

A. P.BShelley



B. Edmund Spenser
C. John Keats
D. Lord Byron

Answer: Lord Byron

Explanation: “Man's love is of man's life a thing apart, 'Tis woman's whole existence.”
— George Gordon Byron Source: Goodreads and Forbes.

Question 140: Who translated the 'Rubaiyat of Omar Khayyam' into English?

A. Thomas Carlyle

B. William Thackeray
C. D.GRossetti

D. Edward Fitzgerald

Answer: Edward Fitzgerald

Explanation: Omar Khayyam, Persian mathematician, astronomer, and poet, renowned
in his own country and time for his scientific achievements but chiefly known to
English-speaking readers through the translation of a collection of his roba ‘Tyat
(“quatrains”) in The Rubaiyat of Omar Khayyam (1859), by the English writer Edward
FitzGerald. Source: Encyclopaedia Britannica

Question 141: 'Ulysses’ is a novel written by -

A. Joseph Conrad
B. Thomas Hardy
C. Charles Dickens
D. James Joyce

Answer: James Joyce

Explanation: Ulysses X IR FF 8 a5F James Joyce I R Toraid Ao
CTS SATS | - Exiles ©1F 936 A6 432 Dubliners X (G5 S2Fa+| - James Joyce B

*Stream of Consciousness’ ((Fa1F W@ Te 5A1R) (G IS (TS| (a2 RS
ATfFS A fabifT)



Question 142: The short story 'The Diamond Necklace' was written by -

A. George Orwell

B. O Henry

C. Somerset Maugham
D. Guy de Maupassant

Answer: Guy de Maupassant

Explanation: Guy de Maupassant’s short story “The Diamond Necklace” (“La parure”)
was first published in the Paris newspaper Le Gaulois on February 17, 1884, and was
subsequently included in his 1885 collection of short stories Tales of Day and Night
(Contes dejour et de la nuit). Like most of Maupassant’s short fiction, it was an instant
success, and it has become his most widely read and anthologized story. In addition to
its well-rounded characters, tight plotting, wealth of detail, and keen social commentary,
“The Diamond Necklace” is conspicuous for its use of the “whip-crack” or “O. Henry”
ending, in which a plot twist at the end of the story completely changes the story’s
meaning. Source: Encyclopedia.

Question 143: 'All the perfumes of Arabia will not sweeten this little hand' - Who
said this?

A. Macbeth
B. Macduff
C. Lady Macduff
D. Lady Macbeth

Answer: Lady Macbeth

Explanation: Macbeth is a famous tragedy of William Shakespeare. Famous quotation
from Macbeth: - 'All the perfumes of Arabia will not sweeten this little hand.' These
dramatic words are uttered by Lady Macbeth in Act V, Scene 1, during a time when she
is overwhelmed by guilt. She has taken to sleepwalking and is obviously in deep
distress. Source: Britannica and enotes.com

Question 144: ‘Where are the songs of Spring? Aye, where are they? Think not of
them, thou hast thy music too.’ -Who wrote this?



A. William Wordsworth
B. Robert Browning

C. Samuel Coleridge
D. John Keats

Answer: John Keats

Explanation: - To Autumn BY JOHN KEATS Where are the songs of spring? Ay, Where
are they? Think not of them, thou hast thy music too,— While barred clouds bloom the
soft-dying day, And touch the stubble-plains with rosy hue; Then in a wailful choir the
small gnats mourn Among the river sallows, borne aloft Or sinking as the light wind lives
or dies; And full-grown lambs loud bleat from hilly bourn; Hedge-crickets sing; and now
with treble soft The red-breast whistles from a garden-croft; And gathering swallows
twitter in the skies.

Question 145: Who is the central character of 'Wuthering Heights' by Emily
Bronte?

A. MrEarnshaw

B. Catherine

C. Hindley Earnshaw
D. Heathcliff

Answer: Heathcliff

Explanation: « Wuthering Heights is a famous novel which is written by Emily Bronte. ¢
Important character of this novel: - Heathcliff, - Catherine Earnshaw - Cathy Linton, -
Edgar Linton, - Lockwood etc. Source: Britannica.com

Question 146: 'The old order changeth, yielding place to new' This line is
extracted from Tennyson's poem -

A. The Lotos- Eaters
B. Tighouns

C. Locksley Hall

D. Morte d' Arthur



Answer: Morte d' Arthur

Explanation: Morte d'Arthur BY ALFRED, LORD TENNYSON And slowly answer'd
Arthur from the barge: "The old order changeth, yielding place to new, And God fulfils
Himself in many ways, Lest one good custom should corrupt the world. Comfort thyself:
what comfort is in me? | have lived my life, and that which | have done May He within
Himself make pure! but thou, If thou shouldst never see my face again,

Question 147: Who has written the poem “The Good Morrow”?

A. George Herbert
B. Andrew Marvell
C. Henry Vaughan
D. John Donne

Answer: John Donne

Explanation: John Donne (% 'Poet of Love and Religious' 31 27| {3271 $@FG FIwT:
- Good Morrow, - The Sun Rising, - The Canonization, - Twicknam garden etc. The
Good-Morrow BY JOHN DONNE | wonder, by my troth, what thou and | Did, till we
loved? Were we not weaned till then? But sucked on country pleasures, childishly? Or
snorted we in the Seven Sleepers’ den? "Twas so; but this, all pleasures fancies be. If
ever any beauty | did see, Which | desired, and got, 'twas but a dream of thee.

Question 148: 'Please write to me at the above address' The word 'above’ in this
sentence is a/an -

A. noun

B. adverb
C. pronoun
D. adjective

Answer: adjective
Explanation: (¥ Parts of Speech noun 3T pronoun a5 (W, 8, ST, ST, SHNT 3931

AT @ ©IF adjective I IS above =16 Adjective. a6 noun address (& modify
PE®I



Question 149: In which sentence is the word 'past’ used as a preposition?

A. Writing letters is a thing of the past .

B. | look back on the past without regret .

C. | called out to him as he ran past .

D. Tania was a wonderful singer, but she's past her prime.

Answer: Tania was a wonderful singer, but she's past her prime.

Explanation: (¥ X% noun 3T pronoun 37 & 307 O1F S I TNel5 a7 foyeaT
F(E O preposition I 'Tania was a wonderful singer, but she's past her time' 42 I1FS
'past’ {6 noun a7 & IO INEF I = N =4S 40T FER| 0%, 9 I past
=5 preposition R51E@ TFIve T@X®|

Question 150: The word 'sibling' means-

A. a brother

B. a sister

C. an infant

D. a brother or sister

Answer: a brother or sister

Explanation: Sibling means 'A brother or a sister'. The plural form 'siblings' (12 S1xaT
(377) means A brother or a sister| According to the Oxford Dictionary, Sibling (Noun):
Meaning: Each of two or more children or offspring having one or both parents in
common; a brother or sister. Ex: ‘| do not know if there were any other siblings or if their
parents had any brothers or sisters.’

Question 151: Fill in the blank: As she was talking, he suddenly broke__, saying,
‘That’s a lie!’

A. off

B. into
C. down
D.in



Answer: in

Explanation: Break-in (noun) break in (up) on 78T (W33T: break in (up) on a discussion.
Source: Bangla Academy Dictionary

Question 152: Fill in the blank : You may go for a walk if you feel it.

A. about
B. on

C. for
D. like

Answer: like

Explanation: Feel like something S (F1e 5% FaT9 %1 J1 (A& ATHT| B T3 like
E | oA I wIGTR: I (SF 26TF 3% 27 ©1RET Qf 20668 M|

Question 153: 'The Rape of the Lock’ by Alexander Pope is a/an -

A. epic

B. ballad

C. elegy

D. mock-heroic poem

Answer: mock-heroic poem

Explanation: The Rape of the Lock, mock-epic poem in heroic couplets by Alexander
Pope. The first version, published in 1712, consisted of two cantos; the final version,
published in 1714, was expanded to five cantos. - Baron (hero), Belinda (heroine), Arial
(God) are the important character of 'The Rape of the Lock'. Source: Britannica.com

Question 154: Which of the following is not an American poet?

A. Robert Frost

B. Langston Hughes
C. Emily Dickinson
D. W.B Yeats



Answer: W.B Yeats

Explanation: William Butler Yeats (1865-1939): He was an Irish poet, dramatist and
critic, famous for his use of symbolism and mysticism. -The Resurrection (1913) -The
Wild Swans at Coole (1919) -The Cat and the Moon (1926) -The Tower (1928) -The
Winding Stair and Other Poems (1933) Source: An ABC of English Literature - Dr M
Mofizar Rahman S Ig S35 ST S AP i |

Question 155: William Shakespeare was born in-

A. 1616
B. 1664
C. 1496
D. 1564

Answer: 1564

Explanation: William Shakespeare was an English dramatist and poet of the sixteenth
century. - He was born on 23 April, 1564 AD and died on 23 April, 1616 AD. - His Birth
place: Stratford Avon. - '1590-1616' is called the Shakespearean period. Source: An
ABC of English Literature, Dr. M Mofizar Rahman.

Question 156: H 323 Protocol S¥F® & F15 7930 23?
A. File transfer

B. File download

C. Data Security

D. VolP

Answer: VolP

Explanation: H. 323 is widely used in IP based videoconferencing, Voice over Internet
Protocol (VolP) and Internet telephony.

Question 157: Jfue (77T TASIH 223G (FIF els A GF (FH6 TI20 2T7?



A. OMR
B. Scanner
C. MICR
D. OCR

Answer: OCR

Explanation: OCR a3 T¢f1 21 Optical Character Reader. OCR a¥eeT (ofd (I 951
BRI (AT Y, SR (TS 0O A | IO (T, TR FAT (77 77 256 F7 (FTA0F (e
ATENGS (GHG IfHe F@ Optical Character Reader (OCR) | $3: fAfFa (AN F1861F
(e g, F39-77 (I0e (S@ fR9:) FEITHE 3 ARG (@16 33

Question 158: A5 fAEET TGTES AGE FEF (F196 71T Relation ST F47 33?
A. Tuples

B. Attributes

C. Rows

D. Tables

Answer: Tables

Explanation: - 30 SIGIEME AF1EF (BRI NF© A - @FF 56 [Ag erog T7F fofe
FE R J1 ST (GREFT NEF F1F T FANE [ 9o 77| - [ere (of F47
O (A TRSAT ST6T N Sl S16T (BT (ofF Fa1 T | - e Fa1 o1 GRwEs
I ST3© TIEIETS [HETTATT SIGIES J41 2| - AT SHIES FH3TF IT® NS
fRTT T TGRS TS HIEEAER JHA | TS 2 ©F § (TSI 2fe, AT (AT,
SHe frafamye

Question 159: Bluetooth 77 Twizae ?
A. @96 93

B. Local Area Network

C. Virtual Private Network

D. Personal Area Network

Answer: Personal Area Network

Explanation: Bluetooth Personal Area Network (PAN) is a technology that enables you



to create an Ethernet network with wireless links between mobile computers, mobile
phones, and handheld devices. Source: microsoft.com

Question 160: GNIART (BT (F19 Mode AT (IS 297?

A. Simplex

B. Half-duplex
C. FM@MG 7
D. Full-duplex

Answer: Full-duplex

Explanation: G161 SIS (G S5 18 FE@ GNART SO NEHAE © BT O
FATIIN S, EH, . TH-QEH 3 0. Fe-GQUErH - e Surad (@6 s-fofe| -
H-QEAET SNRAT STMFOF | - -G SuRA IR (1 |

Question 161: Firewall f& protection (W¥1d &y 597 ® 27?

A. Fire attacks

B. Data - driven attack
C. Virus attacks

D. Unauthorized access

Answer: Unauthorized access
Explanation: What does a firewall do? A firewall acts as a gatekeeper. It monitors

attempts to gain access to your operating system and blocks unwanted traffic or
unrecognized sources. Source: Norton.

Question 162: TV Remote a9 Carrier Frequency-d Range $9?

A. <100 MHZ
B.<1GHZ
C.<2GHz

D. Infrared range a9

Answer: Infrared range a9



Explanation: 3% TG a6 93 490H 8@ I1F @M a1 woo 300 GHz (¥ 8oo THz
T AE | YT FRFIMR e 26 FEORETT J&F (FEMIEE (F@ 2AHNES FIRE F1 271 3
N (FISAST 72 J1& FSRGE 8 [Ffem 0@ - Gfifer , fefitens a aaze Ao
I, fIfew fEeRT (Fa- F-@16, JOH, B TeTUa SWEEN FHNSIE 1 5376 27|
Ta: O 8 (FSMRTST S (-2 7a, AZGANT (ST, IRACT S AW |

Question 163: fAF (FH Octal number F3?

A. 101
B. 77
C.15
D. 19

Answer: 19

Explanation: Octal number system 4 S5 S:F 950 2T | IVT- 0, Y, 3, 9, 8, ¢, Y 43R 9]
©R, v Octal number 33|

Question 164: Time-shared OS- 45 &« (¥14 sheduling policy Y ©1F?

A. First come first serve

B. Last come first serve

C. Shortest job first

D. Round-robin

Answer: Round-robin

Explanation: Round robin scheduling policy is well suited for a time shared operating
system.

Question 165: AT (FEH 52(16) 97 IRATT F1?

A. 1111 0000(2)
B. 0111 0011(2)
C. 0000 1100(2)
D. 01010010(2)



Answer: 01010010(2)

Explanation: 52(16) 95 IR31F 57 01010010(2)

Question 166: ¥ Web browser (F6?

A. Netscape Navigator
B. Safari

C. Internet Explorer

D. WorldWideWeb

Answer: WorldWideWeb

Explanation: WorldWideWeb sJR&IR 520 ISR | Spdo NI BT tofd FAT 271 WWW
T World Wide Web a3 ST SR f37e Sz 1 E1ATO1 58 F100 TE, ©F, TaI6e
ABTE 9 AHTST FE Nexus T1AT 2| @z S en¥ e Freffsf-for (o Io-fer) a7
A3 F1F1 From: w3.org - World Wide Web Consortium (W3C) [link]

Question 167: Social Networking Site - 2 (FTSTEGT (F19 media TI2© }J?

A. image /video
B. Audio

C. Text

D. STEF NISE

Answer: SNET SISE

Explanation: Social Networking Site - 4 (TSNS image, audio, video, text TISER
9209 |

Question 168: CPU (¥4 address generate $(F?

A. Physical address

B. SEH (16 7

C. Both physical and logical addresses
D. Logical Address



Answer: Logical Address

Explanation: The address generated by the CPU is referred to as Logical Address.
R3S 7= (e fA@a S5 SIdwT Logical Adress generate 3| AWM, (O16 fSF&T
(Physical Address) %, (TV(H 2G5 FIEAT 2wf*e BFE 932 aft (T6T I TN (FAHH
A6 RO T 77 T5I2F FI© (WF | FEAOHIE e AfA@ S (SN S Physical
Adress (MA@ 7T 971 OTF1 II97Y Logical Adress F19R1F F(F 19 (|

Question 169: fEa (F1 (NG 9FT6 Tef FETOA (ATAPE IFINS e 3 Ty
FE?

A. Interpreter
B. Emulator
C. Simulator
D. Compiler

Answer: Compiler

Explanation: SR F=RIE 2T A ABf6 [ AT (T (SSTAE IFT e T
(I SR @™ FE A6 AIES (AT ofd FE A2 936 A ST TR (.exe)
(OfF FF| TWCTFATT: IMTTNF IR BRI ST S S (TS 218 (FHIAF (FIOE
P T e FEE (FISNE FBT T AF HFEF IAIMS (AN | ZTIRECE:
RDIHEGES FRANGT (o] SHod SN (I SN FA@F I, ©F IR (INA
ST T (TSI AIES (AN FARI FE A2 CTF HN%T 0 3 (& ICERECEF Ot
(TS AT (AT FN@H FE A1 2HIAEGT 9F TR FE ST FF IR ©IRH P
L% I F(F |

Question 170: 4R (FTAMG 952 S 2L 3 SNEEF RONT T8 F(E?

A. Mouse

B. Microphone
C. Printer

D. Touch Screen

Answer: Touch Screen

Explanation: SfHfe SITTESETR NS BI6E 45 S 516 3476 (77 97: 36 SIS0



@A | IO 26 RGOSR d1l: b, FIETE (Keyboard) X. SIS (Mouse) @, NRTHTETN
(Microphone) 8. 7E1F (Scanner) &, (SN (Modem) &. SNf3T BIIEEG (Graphics Tablet) 9,
3959 (OMR) v, 8faIg (OCR) », TR (Light Pen) So. BI6f34 (Touch Screen)
(SMTBE REES TIZE 27) OS. FIFA (Trackball) S3. FFTTS (Trackpad) 2esifv| FEHM0
AMSHG fSSRETF a: . NfAGF (Monitor) X. TETA (Projector) ©. F51F17 (Speaker) 8,
o613 (Printer) ¢. 8515 (Plotter) b. 3341 (519 (Image Setter) 2e51™|

Question 171: BIFT (I@F [ T (I TSI I8ITF W @ THIFE@ ACEFFS (26
& 2T, (Fa?

C. AT A5F T (P T (7R
D. I3 (1 FTT SR

Answer: A7 (F1 FIFT AR

Explanation: TSt 163 (3@ 9% i & |

Question 172: fYEF (F1AIG SR[ET 522057 2

A.0.4
B. 9

C. 5.639

D. \(27/48) afb Tife Fa1 2@®

Answer: \(27/48) A6 Ffee FaT 2@®

Explanation: 3% $aF (72| ®12 4f6 S Fa71 74

Question 173: faEa (@1 Jof AT 0, 8, ¢ 973 b AT ST FACT IATHFE S, 3, © 3 8
SIE AMF?



D. ¢v
Answer: ¢
Explanation: ©, 8, ¢ AR L AT AFB = Yo V-5 =3;8-3=3;C-V=3;Y-8=3;.".

foqefT 22T = Yo -3 = @b

Question 174: =fdg 8 ST SMIF SeT® 8: 0| O 3 AT I I ¢ : 8|
AAET AT Sro BIFT T, FAET AT F67?

A. 0 GBIFT
B. 53 1T
C. v8 bIFT
D. ax 511

Answer: 93 B3|

Explanation: Sfdd : ©99=4:3=20:15[5 R SIFF | o5 : dfda0=5:4=15: 12
3TABIFE] .. AT : & : AT =20 : 15 : 12 *MfAET AT 20 H1F 3@ @I AT 12
BIT .. SIEE ST 120 G112 FEEF 97 (12 X 120) /20 = 72 51T

Question 175: 8¢o BIFT AMXF L% W F© IRE - ANE ¢¢y BIFT E?

A.© IREF
B. Y 3@
C.¢Im@&@
D. 8 I=&@

Answer: 8 IR
Explanation: SIs97 S, STarstel C, JeINe P, S{d }IF r AR 7T n 2 C = P (5 + nr/so0)

= @t =8¢o (b +n X Y/%0) = €tk = 8¢o (oo + bn/Yo0) = ¢tkoo/8¢o = Soo +
YN = LN =38 -%o=>n=3/L.. Nn=83%F

Question 176: aFfG (NG TR $3% Ffete [AfF Fa1 2| I 37 F77 s200 T1FT @M
R0©l, ORE b% TS 0| (NoF TREET FF T -




A. vooo BT
B. ¢ooo BIFT
C. 8000 GIFT
D. booo BIFT

Answer: booo BIF]

Explanation: F33 Soo BIFT 2 $3% Hete fIFF 3} (soo - 83) = v BIFT; 973, v%
NS fAFIFT (Soo + ¥) = Sob BIFT| [THT YETTEF TRFT (Sob - BY) = Y0 BIFT| =
T 20 BIFT (A 20 HT F Soo BIFT .. FTHT T S200 BIFT @ 26 HT F5

(00X $300)/30 = Yooo BIFT|

Question 177: ((0.9)3+(0.4)3)/(0.9+0.4) 97 N7 F&?

A.0.36
B. 0.51
C. 0.81
D. 0.61

Answer: 0.61
Explanation: {(0.9)* + (0.4)*}/(0.9+0.4)=(0.9+0.4){(0.9)>- (0.9 x 0.4) + (0.4)%} /

(09+04)=0.81-0.36 + 0.16 = 0.61

Question 178: 3x - 2 > 2x - 1 97 SN (N6 (G ?

Explanation: 3x-2 > 2x-1 = 3x - 2x > 2-1 = x > 1 T IR FHHF (X, X, 1 AT GF IS
(AT ST2TT| 2], 3 (A ST G (FEEAT TRAT | 94T BT AN REF© > TFPT
FA© @1 (12, «) BT ARG FHHAE ARFFSNF 5% FE FF a67 To57 FH4E ST
T BT T ARG FEIF 8ad, [1,0), (1,%) [1,%) - BT T 2R S (A AT 5G| |




(T FIACET S AT HF00 @ | (1,%) - BT NN 2= R (Y@ TAF WG| (((TIF FIHCE S
STRTENC ST 2@ AT .5 SN G5 (1, )

Question 179: 6x? - 7x - 4 = 0 STHFACT JTGE TF(© (FTA?

A. TRT 8 T
B. 5Jef F5f 2051
C. 9™

D. AT 3 ST

Answer: JR9 3 9
Explanation: 6x2 - 7x - 4 = 0 TRFGF foPEIIF b2 - 4ac AT TR (IF F IT|

foPERF = (-7)2 - 4x6x(-4) = 49+96 = 145 > 0 (ARY [TTIF YA Jof WA ©R Je5T
qRFF 3 AN |

Question 180: IM x4 - x2 + 1 =0 3T, ©F, X3 + 1/x3 = Fo?

oowp
o v ¥ G

Answer: o

Explanation: x4 -x2+1=0= x4 +1 =x2 = (x4+1)/x2 =1 = x2+1/x2 = 1 = (x+1/x)2
2.x.1/x =1 0 x+ (1/x) = V3 x3+(1/x3) = {x+ (1/x)}3 - 3.x. (1/x) {x + (1/x)} = (¥3)3 - 3. V3 =
3V3-3V3=0

Question 181: xxVx = (xVx)x 2T, & x 97 N F©?

A. Sun Mar 02 2025 14:00:00 GMT+0600 (Bangladesh Standard Time)
B. Wed Apr 09 2025 13:00:00 GMT+0600 (Bangladesh Standard Time)
C. Mon Feb 03 2025 14:00:00 GMT+0600 (Bangladesh Standard Time)
D. Thu Sep 04 2025 13:00:00 GMT+0600 (Bangladesh Standard Time)

Answer: Thu Sep 04 2025 13:00:00 GMT+0600 (Bangladesh Standard Time)



Explanation: xxVx = (x\Vx)x (xx)Vx = (x.x1/2)x = (x3/2)x = (xx)3/2 (xx)Vx = (xx)3/2 Vx =
312 x = (3/2)2 = 9/4

Question 182: (319 *® loga’' = 0 ?

A.a#1,a<0
B.a#0,a>1
C.a>0,a=1
D.a>0,a#1

Answer:a>0,a#1

Explanation: a>0,a # 1 S, loga1=0

Question 183: f6@ ZPQR = 55°, ZLRN =90° 95z PQ || MR, PQ = PR 2, ZNRP a7
N fAd (@62 -> 36.PNG

A. 90°

B. 55°

C.45°

D. 35°

Answer: 35°

Explanation: 2w f6@, PQ = PR 5jesLk, PQR s#f33R fagsl ZPQR = ZPRQ = 55°
ZLRN = 90° 6 £ZNRQ = 90° J&aRk, ZNRP = ZNRQ - ZPRQ = 90° - 55° = 35°

Question 184: P = {x:x, 12 97 SaJTF 2} 9% Q = {x:x, 3 97 ffes 272 x12 } 7,
P-Q F57?

A.{1,2,6)
B. {1,3,4}
C. {1,3,6)
D. {1,2,4}

Answer: {1,2,4}



Explanation: P = {x:x, 12 a9 @m ={1,2,3,4,6,12} Q = {x:x, 3 a9 Sffes a2 x <
12}=1{3,6,9,12} .. P-Q ={1,2,3,4,6,12} - {3,6,9,12} = {1, 2, 4}

Question 185: cos(nTr/2) JqFN6d 5@ W (F1AG?

o>

-1
. Thu Jan 02 2025 14:00:00 GMT+0600 (Bangladesh Standard Time)
1

Answer: 1

Explanation: cos(nT/2) Wﬁ?b_gﬂffﬁ = cos(411/2) [T n = 4] = cos21 = 1

Question 186: b e (AT S W23 26 7 Fo O [oe Fa71 I7?

A. S0
B. 20
C. bo
D. So

Answer: So

Explanation: {6 8o ¥ fANatId o7; f$& ©T 80 ©F AR oy SI« | 97 AT afe
T FRFIEIE 2059 WETR 93N STRHT AT | AFTRER T F SE SFINRG A3
O (I 55 TR 97 T ST (T3 DR | 5 7 SO TAN (S (732 3 TATH
f&fas ST 7R ©XsT fRee FAET TR 23T = (MM b T (IX0) el (ATTATSE AT
AP 30 W o FAF SAF= b/ [RI(@!)R] = So fTFT TME: 3 W © & FE N 5o
SIP® TR & T (A © T FE A (B WeT STHEF A = bC@ = (L)l/(@l(b-9)!) = 30

ST 2ATF T I FE 6 77 [T8@ FAF AT = 30/ = So TNz THEA sifele I =13,
AFTT-FIT (AT |

Question 187: 8% I (F1H6?

A. JETesfe
B. SIssife
C. I1sife



D. SiTsife

Answer: J&T5Ife

Explanation: IsIfS, s (FA0): fawsife; fAea @ 8T ST IRAT AF0G
SIS |

Question 188: SF I (FTAG ?

A. Indulling

B. Indwling

C. Indweling

D. Indwelling

Answer: Indwelling

Explanation: Indwell: To dwell in; to abide within; to remain in possession. Source:
Bangla Academy Dictionary

Question 189: TR ‘FTHTI N A AFALH T TPT AFAD 17?

OO W
o 3R

Answer: «'

Explanation: I ‘F&el NN ‘5 IFAM 2¢©H Fof| ©FF YT T¥T TFA0 2T 2003 Jof
A

Question 190: I ABC = ZYX 2¥, @@ GIVV = ?

A. TERE
B. TEER
C. FREE
D. TREE



Answer: TREE

Explanation: 8% (¥ ¥ Tef- A BF (Y@ 3T Fof- B BF (IF 9T - C 7 (Y@ SF - Z
O (¥ 3T T Y O (@ 0F Fof- X I oo (@2 GIVV = TREE 23|

Question 191: ‘UNICEF’ a3 9139¥ afefIT @6 3?2

A. 37.PNG

B. 39.PNG

C. 40.PNG

D. 38.PNG

Answer: 38.PNG

Explanation: SIIAT IHISE G601 O (T AR I AFISEE TN (17 (I BF 27|

Question 192: AT TN FHF (T N[N 9§ N385 (& , I (@G -

A. OE @ T8I IF
B. ST 2% 2

C. 9@ @ Fre T 1™
D. (5@ @ T8I I

Answer: (60 9@ T8I IF

Explanation: s (@ G (6@ BIA] N2 FIF BIAF NNT @ 85 I 7T [FF (SN
ST Ao 83 I T |

Question 193: .\%.0\%.00\ = ?
A. N.oo0Y
B. .Nooo)Y
C. .0000)%

D. o0.00000%

Answer: o0.00000)%



Explanation: .5x.05%. 008 = 0.00000%

Question 194: IMEx G =3, @I x5="?

A. S0
B. a2

C. OS¢
D. SSo

Answer: SSo

Explanation: ST v 35 (T 8% X(F| JoTH ST SPE-5= 6 G =9J = %0 a2 T =
WER,EXxG=yYx9=83333J x5 =50 x 5% =350

Question 195: 41.PNG

A. 45.PNG
B. 44.PNG
C. 43.PNG
D. 42.PNG

Answer: 42.PNG

Explanation: 52 for ©iF b fR71dhe i s 93k, @S o Ot @@ oiw 9@= o
ot 1F =dte fiE a1 432 1@, ¢ o Feft @M@ wIw 7@F for oF 7o
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